THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid MZ-0073 Ended At Sep 4, 2024 10:00:00 AM CDT CONSTRUCTION/OCZT - Oklahoma City Zoo Well Houses

Company:	Diversified Construction of Oklahoma, Inc	
Base Bid	\$521,817.00	
Add Alternate 1	\$7,410.00	
TOTAL BID:	\$529,227.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MZ-0073 - Oklahoma City Zoo Well Houses

Start Date Aug 14, 2024 8:05:10 AM CDT Awarded Date Not Yet Awarded

MZ-0073–01-01 Base Bid: Well house #41						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Diversified Construction of Oklahoma, Inc	First Offer - \$171,283.00	1 / lump sum	\$171,283.00	Υ	Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				

MZ-007301-02 Base Bid: Well house #42						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Diversified Construction of Oklahoma, Inc	First Offer - \$175,267.00	1 / lump sum	\$175,267.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				

MZ-007301-03 Base Bid: Well house #43					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Diversified Construction of Oklahoma, Inc	First Offer - \$175,267.00	1 / lump sum	\$175,267.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

MZ-0073-02-01 Add Alternate 1: Add Alternate						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Diversified Construction of Oklahoma, Inc	First Offer - \$7,410.00	1 / lump sum	\$7,410.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

Supplier Totals

f Diversified	Construction of Oklahoma, Inc	\$529,227.00 (4/4 items)	
Bid Contact	Skip Gower OrionL@DiversifiedOK.com Ph 405-340-3164	Address 6288 Boucher Dr. Edmond, OK 73034	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	See line item one for attachment		
Agency Notes			Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid OCWUT SC-1124 Ended At Sep 4, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Sanitary Sewer Aerial Crossing Rehabilitation

Company:		Cimarron Construction Company, LLC	Jordan Contractors, LLC
Base Bid	\$107,231.00	\$167,478.00	\$214,510.00
TOTAL BID:	\$107,231.00	\$167,478.00	\$214,510.00

Company:	Matthews Trenching Co., Inc.	Luckinbill Construction Company, LLC	Krapff Reynolds Construction Company
Base Bid	\$247,500.00	\$337,380.00	\$402,264.00
TOTAL BID:	\$247,500.00	\$337,380.00	\$402,264.00

Company:	4M Trenching, LLC	
Base Bid	\$500,730.00	
TOTAL BID:	\$500,730.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT SC-1124 - Sanitary Sewer Aerial Crossing Rehabilitation

Creation Date **Jul 30, 2024** End Date **Sep 4, 2024 10:00:00 AM CDT**

Start Date Aug 14, 2024 8:05:10 AM CDT Awarded Date Not Yet Awarded

OCWUT SC-112401-01 Base Bid: COLOR AUDIO/VID	DEO RECORDING, PRE & PO	OST CONSTRUCTION (F	RECORDED DIGITAL	LY ON DV	/D)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
4M Trenching, LLC	First Offer - \$842.00	1 / lump sum	\$842.00	Υ	Y
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes: Bid Bond Attached	e:		
Cimarron Construction Company, LLC	First Offer - \$1,000.00	1 / lump sum	\$1,000.00	Υ	Y
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes: Bid Bond Attached			
Urban Contractors	First Offer - \$1,200.00	1 / lump sum	\$1,200.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$2,000.00	1 / lump sum	\$2,000.00	Υ	Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes: Bid bo		bid item.	
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00	Υ	Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Luckinbill Construction Company, LLC	First Offer - \$3,500.00	1 / lump sum	\$3,500.00	Υ	Y
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Jordan Contractors, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Y	Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

OCWUT SC-112401-02 Base Bid: SEDIMENT AND ER	OSION CONTROL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$100.00	1 / lump sum	\$100.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$2,200.00	1 / lump sum	\$2,200.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jordan Contractors, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Matthews Trenching Co., Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC	First Offer - \$7,000.00	1 / lump sum	\$7,000.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
4M Trenching, LLC	First Offer - \$8,500.00	1 / lump sum	\$8,500.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ

Product Code: SC-1124	Supplier Product Code:
Agency Notes:	Supplier Notes:

OCWUT SC-112401-03 Base Bid: CLEARING AND G	GRU		I			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.		First Offer - \$15,950.00	1 / lump sum	\$15,950.00		Y
Product Code: SC-1124			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
4M Trenching, LLC		First Offer - \$21,800.00	1 / lump sum	\$21,800.00		Υ
Product Code: SC-1124			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$24,950.00	1 / lump sum	\$24,950.00		Υ
Product Code: SC-1124			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Urban Contractors		First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ
Product Code: SC-1124			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Luckinbill Construction Company, LLC		First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code: SC-1124			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Jordan Contractors, LLC		First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code: SC-1124			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Krapff Reynolds Construction Company		First Offer - \$55,000.00	1 / lump sum	\$55,000.00		Υ
Product Code: SC-1124			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT SC-112401-04 Base Bid: TRENCH EXCAVATION	ON & BACKFILL (0 TO 15	FT)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Krapff Reynolds Construction Company	First Offer - \$1.00	37 / linear foot	\$37.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Urban Contractors	First Offer - \$3.00	37 / linear foot	\$111.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:	·	
Jordan Contractors, LLC	First Offer - \$30.00	37 / linear foot	\$1,110.00		Y
Product Code: SC-1124		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$39.00	37 / linear foot	\$1,443.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Matthews Trenching Co., Inc.	First Offer - \$200.00	37 / linear foot	\$7,400.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
4M Trenching, LLC	First Offer - \$515.00	37 / linear foot	\$19,055.00		Υ
Product Code: SC-1124 Agency Notes:	1	Supplier Product Cod Supplier Notes:	e:		
Luckinbill Construction Company, LLC	First Offer - \$750.00	37 / linear foot	\$27,750.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

OCWUT SC-112401-05 Base Bid: EMBEDMENT MATERIAL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Krapff Reynolds Construction Company	First Offer - \$75.00	10 / cubic yards	\$750.00		Υ		
Product Code: SC-1124		Supplier Product Code	e:				

,				
Agency Notes:		Supplier Notes:		
Jordan Contractors, LLC	First Offer - \$80.00	10 / cubic yards	\$800.00	Υ
Product Code: SC-1124		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$85.00	10 / cubic yards	\$850.00	Υ
Product Code: SC-1124		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Luckinbill Construction Company, LLC	First Offer - \$100.00	10 / cubic yards	\$1,000.00	Υ
Product Code: SC-1124		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Urban Contractors	First Offer - \$100.00	10 / cubic yards	\$1,000.00	Y
Product Code: SC-1124		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$140.00	10 / cubic yards	\$1,400.00	Υ
Product Code: SC-1124		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
4M Trenching, LLC	First Offer - \$247.00	10 / cubic yards	\$2,470.00	Υ
Product Code: SC-1124		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

OCWUT SC-112401-06 Base Bid: SANITARY SEWER	PIPE (18IN) (PVC) (SDR-26)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
4M Trenching, LLC	First Offer - \$350.00	37 / linear foot	\$12,950.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Jordan Contractors, LLC	First Offer - \$400.00	37 / linear foot	\$14,800.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Cimarron Construction Company, LLC	First Offer - \$410.00	37 / linear foot	\$15,170.00		Υ
Product Code: SC-1124		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$500.00	37 / linear foot	\$18,500.00		Y
Product Code: SC-1124		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$500.00	37 / linear foot	\$18,500.00		Υ
Product Code: SC-1124		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$565.00	37 / linear foot	\$20,905.00		Υ
Product Code: SC-1124		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Luckinbill Construction Company, LLC	First Offer - \$1,500.00	37 / linear foot	\$55,500.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

OCWUT SC-112401-07 Base Bid: SEWER FLOW CONTROL								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jordan Contractors, LLC		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ		
Product Code: SC-1124 Agency Notes:			Supplier Product Co Supplier Notes:	ode:				
Urban Contractors		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ		
Product Code: SC-1124 Agency Notes:			Supplier Product Co Supplier Notes:	ode:				
Cimarron Construction Company, LLC		First Offer - \$23,250.00	1 / lump sum	\$23,250.00		Y		
Product Code: SC-1124 Agency Notes:			Supplier Product Co Supplier Notes:	ode:				

4M Trenching, LLC	First Offer - \$24,800.00	1 / lump sum	\$24,800.00	Y
Product Code: SC-1124		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00	Y
Product Code: SC-1124		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Krapff Reynolds Construction Company	First Offer - \$40,000.00	1 / lump sum	\$40,000.00	Y
Product Code: SC-1124		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Luckinbill Construction Company, LLC	First Offer - \$50,000.00	1 / lump sum	\$50,000.00	Y
Product Code: SC-1124		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT SC-112401-08 Base Bid: DEFLECTION TEST ((<24IN)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$100.00	1 / lump sum	\$100.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jordan Contractors, LLC	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y
Product Code: SC-1124		Supplier Product Co	ode:		
Agency Notes:	<u> </u>	Supplier Notes:	I I		
Cimarron Construction Company, LLC	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
4M Trenching, LLC	First Offer - \$1,860.00	1 / lump sum	\$1,860.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT SC-112401-09 Base Bid: TELEVISION IN	SPEC	TION (CCTV) (POST CO	NST.)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Krapff Reynolds Construction Company		First Offer - \$4.50	100 / linear foot	\$450.00		Υ
Product Code: SC-1124			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
4M Trenching, LLC		First Offer - \$6.00	100 / linear foot	\$600.00		Υ
Product Code: SC-1124			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Matthews Trenching Co., Inc.		First Offer - \$7.00	100 / linear foot	\$700.00		Υ
Product Code: SC-1124			Supplier Product Code	9:		
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$8.00	100 / linear foot	\$800.00		Υ
Product Code: SC-1124			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
Urban Contractors		First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
Product Code: SC-1124			Supplier Product Code	2 :		
Agency Notes:			Supplier Notes:			
Jordan Contractors, LLC		First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ

Product Code: SC-1124		Supplier Product Code	::	
Agency Notes:		Supplier Notes:		
Luckinbill Construction Company, LLC	First Offer - \$40.00	100 / linear foot	\$4,000.00	Υ
Product Code: SC-1124		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

OCWUT SC-112401-10 Base Bid: SEWER LEAK TEST (<24IN)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$100.00	1 / lump sum	\$100.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Jordan Contractors, LLC	First Offer - \$500.00	1 / lump sum	\$500.00		Y
Product Code: SC-1124 Agency Notes:	Supplier Product Code: Supplier Notes:				
Krapff Reynolds Construction Company	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
4M Trenching, LLC	First Offer - \$1,610.00	1 / lump sum	\$1,610.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT SC-112401-11 Base Bid: MANHOLE TESTING	i					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Urban Contractors	First Offer - \$100.00	1 / lump sum	\$100.00		Y	
		Supplier Product Co Supplier Notes:	de:			
4M Trenching, LLC	First Offer - \$525.00	1 / lump sum	\$525.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:				
Krapff Reynolds Construction Company	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y	
Product Code: SC-1124 Agency Notes:	Supplier Product Code: Supplier Notes:					
Jordan Contractors, LLC	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Luckinbill Construction Company, LLC	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

OCWUT SC-112401-12 Base Bid: SANITARY SEWER MANHOLE REHABILITATION	
--	--

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Urban Contractors	First Offer - \$150.00	23 / vertical foot	\$3,450.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jordan Contractors, LLC	First Offer - \$200.00	23 / vertical foot	\$4,600.00		Υ	
Product Code: SC-1124 Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Krapff Reynolds Construction Company	First Offer - \$250.00	23 / vertical foot	\$5,750.00		Υ	
Product Code: SC-1124 Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Cimarron Construction Company, LLC	First Offer - \$415.00	23 / vertical foot	\$9,545.00		Υ	
Product Code: SC-1124 Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Matthews Trenching Co., Inc.	First Offer - \$650.00	23 / vertical foot	\$14,950.00		Υ	
Product Code: SC-1124 Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Luckinbill Construction Company, LLC	First Offer - \$870.00	23 / vertical foot	\$20,010.00		Υ	
Product Code: SC-1124 Agency Notes:		Supplier Product Code Supplier Notes:	e:			
4M Trenching, LLC	First Offer - \$2,640.00	23 / vertical foot	\$60,720.00		Υ	
Product Code: SC-1124 Agency Notes:		Supplier Product Code Supplier Notes:	e:			

OCWUT SC-112401-13 Base Bid: STEEL CASING PIP	E (CARRIER SIZE 18IN)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Luckinbill Construction Company, LLC	First Offer - \$700.00	63 / linear foot	\$44,100.00		Υ
		Supplier Product Coc Supplier Notes:	le:		
Urban Contractors	First Offer - \$700.00	63 / linear foot	\$44,100.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:			
Jordan Contractors, LLC	First Offer - \$1,000.00	63 / linear foot	\$63,000.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
Cimarron Construction Company, LLC	First Offer - \$1,050.00	63 / linear foot	\$66,150.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
Matthews Trenching Co., Inc.	First Offer - \$1,850.00	63 / linear foot	\$116,550.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$2,944.00	63 / linear foot	\$185,472.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
4M Trenching, LLC	First Offer - \$4,720.00	63 / linear foot	\$297,360.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Coc Supplier Notes:	le:		

OCWUT SC-112401-14 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Urban Contractors	First Offer - \$50.00	1 / lump sum	\$50.00		Υ		
Product Code: SC-1124	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$1,750.00	1 / lump sum	\$1,750.00		Y		
Product Code: SC-1124		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

4M Trenching, LLC	First Offer - \$2,220.00	1 / lump sum	\$2,220.00	,	Υ
Product Code: SC-1124		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00	,	Υ
Product Code: SC-1124		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Luckinbill Construction Company, LLC	First Offer - \$3,000.00	1 / lump sum	\$3,000.00	,	Υ
Product Code: SC-1124		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$3,900.00	1 / lump sum	\$3,900.00	,	Υ
Product Code: SC-1124		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Jordan Contractors, LLC	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	,	Υ
Product Code: SC-1124		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-112401-15 Base Bid: GPS "AS-BUILT" SL	JRVEY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
4M Trenching, LLC	First Offer - \$468.00	1 / lump sum	\$468.00		Y
		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$850.00	1 / lump sum	\$850.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Urban Contractors	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$2,300.00	1 / lump sum	\$2,300.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jordan Contractors, LLC	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT SC-112401-16 Base Bid: CONSTRUCTION S	SIC	NING AND TRAFFIC CON	TROL			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.		First Offer - \$500.00	1 / lump sum	\$500.00		Y
Product Code: SC-1124 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Urban Contractors		First Offer - \$500.00	1 / lump sum	\$500.00		Y
Product Code: SC-1124 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC		First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y
Product Code: SC-1124 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: SC-1124 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company		First Offer - \$6,300.00	1 / lump sum	\$6,300.00		Y

Product Code: SC-1124		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
Jordan Contractors, LLC	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Y
Product Code: SC-1124		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
4M Trenching, LLC	First Offer - \$19,750.00	1 / lump sum	\$19,750.00	Υ
Product Code: SC-1124		Supplier Product C	ode:	
Product Code: 5C-1124		Supplier i Toudet C		

OCWUT SC-112401-17 Base Bid: MOBILIZATION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Urban Contractors	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Cimarron Construction Company, LLC	First Offer - \$7,850.00	1 / lump sum	\$7,850.00		Υ	
		Supplier Product Code: Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ	
Product Code: SC-1124 Agency Notes:	Supplier Product Code: Supplier Notes:					
4M Trenching, LLC	First Offer - \$24,500.00	1 / lump sum	\$24,500.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:				
Jordan Contractors, LLC	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Υ	
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:				
Luckinbill Construction Company, LLC	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Krapff Reynolds Construction Company	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y	
Product Code: SC-1124 Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

OCWUT SC-112401-18 Base Bid: SOLID SLAB SODD	ING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$3.00	140 / square yard	\$420.00	Υ	Υ
Product Code: SC-1124 Agency Notes:	1113001101 \$3,00	Supplier Product Code: Supplier Notes: Bid bond			<u>.</u>
4M Trenching, LLC Product Code: SC-1124	First Offer - \$5.00	140 / square yard Supplier Product Code:	\$700.00		Υ
Agency Notes:		Supplier Notes:			
Jordan Contractors, LLC	First Offer - \$5.00	140 / square yard	\$700.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$8.00	140 / square yard	\$1,120.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$10.00	140 / square yard	\$1,400.00		Υ
Product Code: SC-1124 Agency Notes:		Supplier Product Code: Supplier Notes:			

Matthews Trenching Co., Inc.	First Offer - \$15.00	140 / square yard	\$2,100.00	Υ
Product Code: SC-1124		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Luckinbill Construction Company, LLC	First Offer - \$18.00	140 / square yard	\$2,520.00	Υ
Product Code: SC-1124		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

Supplier Totals

Supplier Total	<u> </u>		
f Urban Cont	ractors	\$107,231.00 (18/18 items)	
Bid Contact	Amy Hampton urbancontr@aol.com Ph 405-478-5370 Fax 405-478-5618	Address 7113 N. Bryant Ave Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f Cimarron C	onstruction Company, LLC	\$167,478.00 (18/18 items)	
Bid Contact	Don E Noble jhuckabay@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid Bond Attached to Item #1		
Agency Notes	:	Supplier Notes: Bid Bond Attached to Item #1	Head Attch:
f Jordan Cont	tractors, LLC	\$214,510.00 (18/18 items)	
Bid Contact	John Jordan john@jordancontractors.us Ph 405-598-2169 Fax 405-598-2160	Address 123 S Broadway Tecumseh, OK 74873	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes: H	lead Attch:
f Matthews T	renching Co., Inc.	\$247,500.00 (18/18 items)	
Bid Contact	Gary Matthews jhendrix@mtciokc.com Ph 405-677-4525	Address 919 S Fairmont Ave Oklahoma City, OK 73129	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f Luckinbill C	onstruction Company, LLC	\$337,380.00 (18/18 items)	
Bid Contact	Robert Gibson robert.gibson@luckinbillconstruction.com Ph 405-359-6880	Address 409 W. Centennial Blvd Edmond, OK 73013	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid Bond is attached to Line item #1		
Agency Notes	:	Supplier Notes: Bid Bond is attached to Line item #1	Head Attch:

f Krapff Reyn Bid Contact	olds Construction Company Jim King fred@krapff-reynolds.com Ph 405-733-9682	\$402,264.00 (18/18 items) Address 2400 N.E. 4th st Oklahoma City, OK 73117	
Qualifications	Fax 405-516-0081 OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:
f 4M Trenchii	ng, LLC	\$500,730.00 (18/18 items)	
Bid Contact	Mitchell Manning manuel@4mtrenching.com Ph 405-942-4175 Fax 405-942-4176	Address 4912 Bishop Dr Oklahoma City, OK 73128	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

City Clerk

Bid OCWUT WC-0660 Pump Station O Ended At Sep 4, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Second Atoka Pipeline Raw Water Transmission Line

Company:	Wynn Construction Co., Inc	Downey Contracting, L.L.C.	
Base Bid	\$81,729,000.00	\$83,379,000.00	
TOTAL BID:	\$81,729,000.00	\$83,379,000.00	

Tresha Williams	<u>Chad Harrison</u>	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WC-0660 Pump Station O - Second Atoka Pipeline Raw Water Transmission Line

Creation Date **Jun 24, 2024** End Date **Sep 4, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

OCWUT WC-0660 Pump Station O01-01 Base Bid: Bond Premiums, Insurance, GCs and Mob/Demob (Max 5% of Total Bid)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$2,400,000.00	1 / lump sum	\$2,400,000.00	Υ	Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$3,800,000.00	1 / lump sum	\$3,800,000.00	Υ	Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

OCWUT WC-0660 Pump Station O01-02 Base Bid: Pump Station Foundation						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Wynn Construction Co., Inc	First Offer - \$4,800,000.00	1 / lump sum	\$4,800,000.00	Υ	Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$9,940,000.00	1 / lump sum	\$9,940,000.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				

OCWUT WC-0660 Pump Station O01-03 Base Bid: Pump Station Building/Roof/Architectural/HVAC/Plumb Components							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$9,750,000.00	1 / lump sum	\$9,750,000.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$11,300,000.00	1 / lump sum	\$11,300,000.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

OCWUT WC-0660 Pump Station O-01-04 Base Bid: Interior Cement Mortar Lined Steel Piping/Valves/Pumps/Motors/VFDs					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$13,700,000.00	1 / lump sum	\$13,700,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$14,000,000.00	1 / lump sum	\$14,000,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT WC-0660 Pump Station O01-05 Base Bid: Cement Mortar Lined Steel Yard Piping (Not Furnished by Owner)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Downey Contracting, L.L.C.	First Offer - \$15,000,000.00	1 / lump sum	\$15,000,000.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$16,100,000.00	1 / lump sum	\$16,100,000.00		Y	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				

OCWUT WC-0660 Pump Station O01-06 Base Bid: Surge Tanks/Foundation/Piping						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Downey Contracting, L.L.C.	First Offer - \$3,400,000.00	1 / lump sum	\$3,400,000.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$3,700,000.00	1 / lump sum	\$3,700,000.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

OCWUT WC-0660 Pump Station O01-07 Base Bid: Balancing Tank/Foundation/Piping						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Downey Contracting, L.L.C.	First Offer - \$5,550,000.00	1 / lump sum	\$5,550,000.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$8,200,000.00	1 / lump sum	\$8,200,000.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				

OCWUT WC-0660 Pump Station O01-08 Base Bid: Compressor Building Foundation								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wynn Construction Co., Inc	First Offer - \$130,000.00	1 / lump sum	\$130,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0660 Pump Station O01-09 Base Bid: Compressor Building/Roof/Architectural/HVAC/Plumb Components								
Supplier	Unit Price	te Qty/Unit Total Price Attch. D						
Downey Contracting, L.L.C.	First Offer - \$249,000.00	1 / lump sum	\$249,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$850,000.00	1 / lump sum	\$850,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0660 Pump Station O01-10 Base Bid: Rotary Screw Compressors/Piping								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wynn Construction Co., Inc	First Offer - \$125,000.00	1 / lump sum	\$125,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$237,000.00	1 / lump sum	\$237,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0660 Pump Station O01-11 Base Bid: Sedimentation/Erosion Control									
Supplier	Unit Price	te Qty/Unit Total Price Attch.							
Downey Contracting, L.L.C.	First Offer - \$27,000.00	1 / lump sum	\$27,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$60,000.00	1 / lump sum	\$60,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0660 Pump Station O01-12 Base Bid: Access Road/Parking Area Site Work									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$1,750,000.00	1 / lump sum	\$1,750,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$7,535,000.00	1 / lump sum	\$7,535,000.00		Υ				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0660 Pump Station O01-13 Base Bid: Chain Link Fence and Gates									
Supplier	Unit Price	ce Qty/Unit Total Price Attch.							
Downey Contracting, L.L.C.	First Offer - \$391,000.00	1 / lump sum	\$391,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$420,000.00	1 / lump sum	\$420,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0660 Pump Station O01-14 Base Bid: Electrical Work								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$10,500,000.00	1 / lump sum	\$10,500,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$12,400,000.00	1 / lump sum	\$12,400,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0660 Pump Station O01-15 Base Bid: Instrumentation and Controls									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$1,245,000.00	1 / lump sum	\$1,245,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$1,600,000.00	1 / lump sum	\$1,600,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0660 Pump Station O01-16 Base Bid: Installation of Owner Furnished 250 psi rated buried steel pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$450.00	1000 / linear foot	\$450,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$560.00	1000 / linear foot	\$560,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-0660 Pump Station O01-17 Base Bid: Installation of Owner Furnished 150 psi rated buried steel pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$400.00	400 / linear foot	\$160,000.00		Y				
Product Code: Supplier Product									
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$560.00	400 / linear foot	\$224,000.00		Y				
Product Code:		Supplier Product Code:							

Agency Notes: Supplier Notes:

OCWUT WC-0660 Pump Station O01-18 Base Bid: Miscellaneous Work and Clean-up									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$210,000.00	1 / lump sum	\$210,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0660 Pump Station O01-19 Base Bid: All Other Work Not included in the Items Above								
Supplier	Unit Price	e Qty/Unit Total Price Attch. De						
Wynn Construction Co., Inc	First Offer - \$650,000.00	1 / lump sum	\$650,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$995,000.00	1 / lump sum	\$995,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0660 Pump Station O01-20 Base Bid: Factory Witness Testing Allowance for Travel by System Engineer (\$150,000)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0660 Pump Station O01-21 Base Bid: Contingency Allowance for Work Identified by Owner and/or Engineer (\$1,000,000)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:	Supplier Notes:								
Wynn Construction Co., Inc	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

Supplier Totals

f Wynn Const	truction Co., Inc	\$81,729,000.00 (21/21 items)	
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes: H	ead Attch:
f Downey Co	ntracting, L.L.C.	\$83,379,000.00 (21/21 items)	
Bid Contact	Sheila Stovall rmorris@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		

bid #OCWUT WC-0660 Pump Station O - Second

City of Oklahoma City and its Trusts

Agency Notes: Supplier Notes: Head Attch:

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCWUT WC-1083 Ended At Sep 4, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Waterline Replacement

Company:	Luckinbill Construction Company, LLC	Cimarron Construction Company, LLC	Matthews Trenching Co., Inc.
Base Bid	\$727,177.00	\$878,777.00	\$1,224,157.00
TOTAL BID:	\$727,177.00	\$878,777.00	\$1,224,157.00

Company:	Southwest Water Works L.L.C.	
Base Bid	\$1,432,145.00	
TOTAL BID:	\$1,432,145.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WC-1083 - Waterline Replacement

Creation Date **Jul 31, 2024** End Date **Sep 4, 2024 10:00:00 AM CDT**

Start Date Aug 14, 2024 8:05:10 AM CDT Awarded Date Not Yet Awarded

OCWUT WC-108301-01 Base Bid: (4 IN) (DIP) WATERLINE PIPE (PUSH-ON JOINT) (0.39 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Luckinbill Construction Company, LLC	First Offer - \$70.00	92 / linear foot	\$6,440.00	Υ	Υ			
Product Code: WC-1083		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$143.00	92 / linear foot	\$13,156.00	Υ	Υ			
Product Code: WC-1083		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes: Bid B	ond Attached.					
Southwest Water Works L.L.C.	First Offer - \$150.00	92 / linear foot	\$13,800.00	Y	Y			
Product Code: WC-1083		Supplier Product Cod						
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$235.00	92 / linear foot	\$21,620.00	Υ	Υ			
Product Code: WC-1083		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-108301-02 Base Bid: (4 IN) (DIP) WATERLINE PIPE (RESTRAINED JOINT) (0.39 IN)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Luckinbill Construction Company, LLC	First Offer - \$85.00	66 / linear foot	\$5,610.00		Υ		
Product Code: WC-1083	Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$154.00	66 / linear foot	\$10,164.00		Υ		
Product Code: WC-1083		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Southwest Water Works L.L.C.	First Offer - \$180.00	66 / linear foot	\$11,880.00		Υ		
Product Code: WC-1083		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$240.00	66 / linear foot	\$15,840.00		Y		
Product Code: WC-1083		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

OCWUT WC-108301-03 Base Bid: (6 IN) (DIP) WATERLINE PIPE (PUSH-ON JOINT) (0.39 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Luckinbill Construction Company, LLC	First Offer - \$95.00	1010 / linear foot	\$95,950.00		Υ			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$160.00	1010 / linear foot	\$161,600.00		Y			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$255.00	1010 / linear foot	\$257,550.00		Y			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$340.00	1010 / linear foot	\$343,400.00		Y			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WC-108301-04 Base Bid: (6 IN) (DIP) WATERLINE PIPE (RESTRAINED JOINT) (0.39 IN)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Luckinbill Construction Company, LLC	First Offer - \$115.00	579 / linear foot	\$66,585.00		Υ		
Product Code: WC-1083		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$169.00	579 / linear foot	\$97,851.00		Υ		
Product Code: WC-1083		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$265.00	579 / linear foot	\$153,435.00		Y		
Product Code: WC-1083		Supplier Product Code	: :				
Agency Notes:		Supplier Notes:					
Southwest Water Works L.L.C.	First Offer - \$370.00	579 / linear foot	\$214,230.00		Y		
Product Code: WC-1083		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					

OCWUT WC-108301-05 Base Bid: BORING AND CASING (6-INCH CARRIER PIPE)							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Matthews Trenching Co., Inc.		First Offer - \$335.00	515 / linear foot	\$172,525.00		Υ	
Product Code: WC-1083 Agency Notes:			Supplier Product Code Supplier Notes:	e:			
Southwest Water Works L.L.C.		First Offer - \$375.00	515 / linear foot	\$193,125.00		Y	
Product Code: WC-1083 Agency Notes:			Supplier Product Code Supplier Notes:	e:			
Cimarron Construction Company, LLC		First Offer - \$385.00	515 / linear foot	\$198,275.00		Υ	
Product Code: WC-1083 Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Luckinbill Construction Company, LLC		First Offer - \$400.00	515 / linear foot	\$206,000.00		Y	
Product Code: WC-1083 Agency Notes:			Supplier Product Code Supplier Notes:	e:			

OCWUT WC-108301-06 Base Bid: FITTINGS (4 IN X 90 DEGREE BEND)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Matthews Trenching Co., Inc.	First Offer - \$365.00	1 / each	\$365.00		Υ			
Product Code: WC-1083	•	Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Luckinbill Construction Company, LLC	First Offer - \$400.00	1 / each	\$400.00		Υ			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$425.00	1 / each	\$425.00		Υ			
Product Code: WC-1083		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$750.00	1 / each	\$750.00		Υ			
Product Code: WC-1083		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-108301-07 Base Bid: FITTINGS (6 IN X	(90	DEGREE BEND)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Luckinbill Construction Company, LLC		First Offer - \$500.00	4 / each	\$2,000.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Matthews Trenching Co., Inc.		First Offer - \$540.00	4 / each	\$2,160.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$575.00	4 / each	\$2,300.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		

Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$1,000.00	4 / each	\$4,000.00	Υ
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT WC-108301-08 Base Bid: FITTINGS (6 IN X	45 DEGREE BEND)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$480.00	7 / each	\$3,360.00		Y
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC	First Offer - \$500.00	7 / each	\$3,500.00		Y
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$550.00	7 / each	\$3,850.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$1,000.00	7 / each	\$7,000.00		Y
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT WC-108301-09 Base Bid: FITTINGS (6 IN X 2	22.5 DEGREE BEND)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$460.00	2 / each	\$920.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC	First Offer - \$500.00	2 / each	\$1,000.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$525.00	2 / each	\$1,050.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$1,000.00	2 / each	\$2,000.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT WC-108301-10 Base Bid: FITTINGS (6 IN X	4 IN TEE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$725.00	2 / each	\$1,450.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$785.00	2 / each	\$1,570.00		Υ
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Luckinbill Construction Company, LLC	First Offer - \$800.00	2 / each	\$1,600.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-108301-11 Base Bid: FITTINGS (6 IN X 6 IN TEE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$785.00	3 / each	\$2,355.00		Υ				
Product Code: WC-1083		Supplier Product Co	ode:						

Agency Notes:		Supplier Notes:		
Luckinbill Construction Company, LLC	First Offer - \$800.00	3 / each	\$2,400.00	Y
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$800.00	3 / each	\$2,400.00	Υ
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$1,500.00	3 / each	\$4,500.00	Υ
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT WC-108301-12 Base Bid: METER RELOCA	TIC	ON (2" DOM SLS)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.		First Offer - \$5,800.00	1 / each	\$5,800.00		Υ
Product Code: WC-1083 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC		First Offer - \$15,000.00	1 / each	\$15,000.00		Υ
Product Code: WC-1083 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC		First Offer - \$24,750.00	1 / each	\$24,750.00		Υ
Product Code: WC-1083 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.		First Offer - \$35,000.00	1 / each	\$35,000.00		Υ
Product Code: WC-1083 Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

OCWUT WC-108301-13 Base Bid: METER RELOCA	TIO	N (2" IRR SLS)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.		First Offer - \$7,500.00	1 / each	\$7,500.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Luckinbill Construction Company, LLC		First Offer - \$15,000.00	1 / each	\$15,000.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$20,100.00	1 / each	\$20,100.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Southwest Water Works L.L.C.		First Offer - \$35,000.00	1 / each	\$35,000.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT WC-108301-14 Base Bid: REVERSE TAP					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Luckinbill Construction Company, LLC	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$7,500.00	2 / each	\$15,000.00		Υ
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$15,000.00	2 / each	\$30,000.00		Υ
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-108301-15 Base Bid: 4 IN SOLID SLEEV	E				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$350.00	2 / each	\$700.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Luckinbill Construction Company, LLC	First Offer - \$400.00	2 / each	\$800.00		Y
Product Code: WC-1083	roduct Code: WC-1083 Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$500.00	2 / each	\$1,000.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$3,200.00	2 / each	\$6,400.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-108301-16 Base Bid: FIRE HYDRANT	ASSEMBLY					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$5,400.00	3 / each	\$16,200.00		Y	
Product Code: WC-1083		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Luckinbill Construction Company, LLC	First Offer - \$6,000.00	3 / each	\$18,000.00		Y	
Product Code: WC-1083		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$6,500.00	3 / each	\$19,500.00		Y	
Product Code: WC-1083		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$12,500.00	3 / each	\$37,500.00		Y	
Product Code: WC-1083		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

OCWUT WC-108301-17 Base Bid: REMOVE FIRE	HYE	PRANT				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$500.00	3 / each	\$1,500.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Luckinbill Construction Company, LLC		First Offer - \$500.00	3 / each	\$1,500.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Matthews Trenching Co., Inc.		First Offer - \$750.00	3 / each	\$2,250.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Southwest Water Works L.L.C.		First Offer - \$4,000.00	3 / each	\$12,000.00		Y
Product Code: WC-1083			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT WC-108301-18 Base Bid: 4 IN GATE VALVE AND VALVE BOX									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ				
Product Code: WC-1083		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Luckinbill Construction Company, LLC	First Offer - \$2,000.00	2 / each	\$4,000.00		Y				
Product Code: WC-1083		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

Matthews Trenching Co., Inc.	First Offer - \$2,000.00	2 / each	\$4,000.00	Y
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$5,500.00	2 / each	\$11,000.00	Υ
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT WC-108301-19 Base Bid: 6 IN GATE VALVE	AND VALVE BOX				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$1,850.00	5 / each	\$9,250.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Luckinbill Construction Company, LLC	First Offer - \$2,500.00	5 / each	\$12,500.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	5 / each	\$12,500.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$6,500.00	5 / each	\$32,500.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-108301-20 Base Bid: 6 IN TAPPING V	ALVE AND VALVE BOX				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$2,150.00	2 / each	\$4,300.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Luckinbill Construction Company, LLC	First Offer - \$2,500.00	2 / each	\$5,000.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	2 / each	\$5,000.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$5,500.00	2 / each	\$11,000.00		Y
Product Code: WC-1083		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-108301-21 Base Bid: 6 IN DOUBLE C	HE	CK VALVE W/ BYPASS ME	TER & ENCLOSURE				
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs
Matthews Trenching Co., Inc.		First Offer - \$15,000.00	2 / each		\$30,000.00		Y
Product Code: WC-1083			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$19,850.00	2 / each		\$39,700.00		Υ
Product Code: WC-1083			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Luckinbill Construction Company, LLC		First Offer - \$30,000.00	2 / each		\$60,000.00		Υ
Product Code: WC-1083			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Southwest Water Works L.L.C.		First Offer - \$35,000.00	2 / each		\$70,000.00		Y
Product Code: WC-1083			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				

OCWUT WC-108301-22 Base Bid: HYDROSTATIC PRESSURE TESTING AND DISINFECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

Luckinbill Construction Company, LLC	First Offer - \$2,500.00	1 / each	\$2,500.00	Υ
Product Code: WC-1083	Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00	Υ
Product Code: WC-1083	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$5,400.00	1 / each	\$5,400.00	Υ
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$10,000.00	1 / each	\$10,000.00	Y
Product Code: WC-1083		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT WC-108301-23 Base Bid: 12 x 6 IN TAPPIN	IG SLEEVE & 6 IN VALVE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$3,750.00	2 / each	\$7,500.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Luckinbill Construction Company, LLC	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$8,750.00	2 / each	\$17,500.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$15,500.00	2 / each	\$31,000.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT WC-108301-24 Base Bid: CONSTRUCTION	N STAKING (CONSTRUCTION	I SURVEY)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Matthews Trenching Co., Inc.	First Offer - \$5,500.00	1 / lump sum	\$5,500.00		Υ	
Product Code: WC-1083		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Luckinbill Construction Company, LLC	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Y	
Product Code: WC-1083		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$10,850.00	1 / lump sum	\$10,850.00		Y	
Product Code: WC-1083		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ	
Product Code: WC-1083		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

OCWUT WC-108301-25 Base Bid: GPS "AS-BUILT" SURVEY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y			
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y			
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Luckinbill Construction Company, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ			
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southwest Water Works L.L.C.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y			

bid #OCWUT WC-1083 -Waterline Replacement

City of Oklahoma City and its Trusts

Product Code: WC-1083
Agency Notes:
Supplier Product Code:
Supplier Notes:

OCWUT WC-108301-26 Base Bid: COLOR AUDIO/VIDEO RECORDING, PRE & POST CONSTRUCTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$850.00	1 / lump sum	\$850.00		Υ				
Product Code: WC-1083		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y				
Product Code: WC-1083		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Luckinbill Construction Company, LLC	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y				
Product Code: WC-1083		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y				
Product Code: WC-1083		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-108301-27 Base Bid: CONSTRUCTION SIGNING & TRAFFIC CONTROL							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Matthews Trenching Co., Inc.		First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Υ	
			Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$10,050.00	1 / lump sum	\$10,050.00		Y	
Product Code: WC-1083 Agency Notes:			Supplier Product Code: Supplier Notes:				
Luckinbill Construction Company, LLC		First Offer - \$18,000.00	1 / lump sum	\$18,000.00		Υ	
			Supplier Product Code: Supplier Notes:				
Southwest Water Works L.L.C.		First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Y	
Product Code: WC-1083 Agency Notes:			Supplier Product Co Supplier Notes:	ode:			

OCWUT WC-108301-28 Base Bid: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$25,421.00	1 / lump sum	\$25,421.00		Υ
Product Code: WC-1083 Agency Notes:	Supplier Product Code: Supplier Notes:				
Luckinbill Construction Company, LLC	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code: WC-1083 Agency Notes:	Supplier Product Code: Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code: WC-1083 Agency Notes:	Supplier Product Code: Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ
Product Code: WC-1083 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT WC-108301-29 Base Bid: REMOVE CURB AND GUTTER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Luckinbill Construction Company, LLC	First Offer - \$7.00	446 / linear foot	\$3,122.00		Y		
Product Code: WC-1083		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$7.00	446 / linear foot	\$3,122.00		Y		

Product Code: WC-1083		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$10.00	446 / linear foot	\$4,460.00	Υ
Product Code: WC-1083		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$35.00	446 / linear foot	\$15,610.00	Υ
Product Code: WC-1083		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

OCWUT WC-108301-30 Base Bid: CURB AND GUTTER (6 IN BARRIER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Luckinbill Construction Company, LLC	First Offer - \$35.00	446 / linear foot	\$15,610.00		Y			
Product Code: WC-1083		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$35.00	446 / linear foot	\$15,610.00		Y			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$70.00	446 / linear foot	\$31,220.00		Y			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$110.00	446 / linear foot	\$49,060.00		Υ			
Product Code: WC-1083		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-108301-31 Base Bid: PAVEMENT CUT AND PERMENANT REPAIR (MATCH EXISTING)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Luckinbill Construction Company, LLC	First Offer - \$85.00	688 / square yard	\$58,480.00		Υ			
Product Code: WC-1083 Agency Notes:		Supplier Product Code: Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$160.00	688 / square yard	\$110,080.00		Υ			
Product Code: WC-1083 Agency Notes:		Supplier Product Code: Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$165.00	688 / square yard	\$113,520.00		Υ			
Product Code: WC-1083 Agency Notes:		Supplier Product Code: Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$375.00	688 / square yard	\$258,000.00		Υ			
Product Code: WC-1083 Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT WC-108301-32 Base Bid: REMOVE AND REPLACE SIDEWALK (5 FT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Luckinbill Construction Company, LLC	First Offer - \$60.00	6 / square yard	\$360.00		Υ			
Product Code: WC-1083 Agency Notes:	Supplier Product Code: Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$95.00	6 / square yard	\$570.00		Υ			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$145.00	6 / square yard	\$870.00		Y			
Product Code: WC-1083		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$300.00	6 / square yard	\$1,800.00		Υ			
Product Code: WC-1083	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

OCWUT WC-108301-33 Base Bid: SOLID SLAB SODDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Luckinbill Construction Company, LLC	First Offer - \$4.00	5830 / square yard	\$23,320.00		Y		
Product Code: WC-1083		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Southwest Water Works L.L.C.	First Offer - \$5.00	5830 / square yard	\$29,150.00		Y		
Product Code: WC-1083		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$6.00	5830 / square yard	\$34,980.00		Y		
Product Code: WC-1083		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$10.00	5830 / square yard	\$58,300.00		Y		
Product Code: WC-1083		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT WC-108301-34 Base Bid: SEDIMENT & EROSION CONTROL								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Luckinbill Construction Company, LLC		First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Υ		
			Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$3,800.00	1 / lump sum	\$3,800.00		Υ		
Product Code: WC-1083 Agency Notes:			Supplier Product Code: Supplier Notes:					
Southwest Water Works L.L.C.		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ		
Product Code: WC-1083 Agency Notes:			Supplier Product Code: Supplier Notes:					
Matthews Trenching Co., Inc.		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ		
Product Code: WC-1083 Agency Notes:			Supplier Product Co Supplier Notes:	ode:				

Supplier Totals

f Luckinbill Co	onstruction Company, LLC	\$727,177.00 (34/34 items)	
Bid Contact	Robert Gibson robert.gibson@luckinbillconstruction.com Ph 405-359-6880	Address 409 W. Centennial Blvd Edmond, OK 73013	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid bond is attached in line item #1		
Agency Notes:		Supplier Notes: Hea Bid bond is attached in line item #1	ad Attch:
f Cimarron Co	onstruction Company, LLC	\$878,777.00 (34/34 items)	
Bid Contact	Don E Noble jhuckabay@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid Bond Attached to Item #1		
Agency Notes:		Supplier Notes: He Bid Bond Attached to Item #1	ead Attch:
f Matthews T	renching Co., Inc.	\$1,224,157.00 (34/34 items)	
Bid Contact	Gary Matthews	Address 919 S Fairmont Ave	

enine Replacemer	IL	its trusts	
	jhendrix@mtciokc.com Ph 405-677-4525	Oklahoma City, OK 73129	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Southwest \	Water Works L.L.C.	\$1,432,145.00 (34/34 items	
Bid Contact	Paul Matthews paul@swwaterworks.com Ph 405990 Fax 405-463-5665	Address 201 NW 132nd St Oklahoma City, OK 73114	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #25610 - DREDGING GEOTEXTILE TUBES

Creation Date Aug 6, 2024 End Date Sep 4, 2024 10:00:00 AM CDT

Start Date Aug 14, 2024 8:05:10 AM CDT Awarded Date Not Yet Awarded

One Clarion \$54,030.21 (28/28 items)

Bid Contact **KERRY E WILKIE**

Address 1515 US HWY 1
Suite 201

accounting@oneclarion.com

Ph 863-261-8388

Sebastian, FL 32958

Bid Notes Prices quoted are based upon full truckload shipments for best landed costs.

*Truckload freight is \$3300/truck.

**LTL rates to be determined based on size, quantity and product mix at time of order. Pre-pay & ADD. All freight is subject to carrier fuel surcharge.

*** Lead times are dependent on quantity on each order and product mix. Normal supply lead times are 2-6 weeks, or sooner, from receipt of order. However, if large volume orders are placed at one time, lead times would extend and scheduled shipment would be arranged to accommodate on site production rates and cheapest landed cost.

**** Pricing agreement(s) will be effective on October 30, 2024 and last through October 29th 2025. Thereafter the Annual pricing agreement (s) will be subject to a price increase of a minimum of 4% per Annual pricing agreement to be discussed at time of renewal. ie 2025 to 2026 would incur a 4% increase on stated prices. 2026-2027 would be an additional 4%. Subject to acceptance, if desired.

Limited Warranty Statement

One Clarion's exclusive warranty, if applicable, is that provided by the product's manufacturer. Flint Technical Geosolutions warrants our products to be free from defects in material and workmanship when shipped out to our customers and that our products meet our published specifications.

OS435 TDS and MSDS attached to item 25610--01-01 applies to all dewatering tubes

Agency Notes: Supplier based up

Supplier Notes: Prices quoted are based upon full truckload shipments for best landed costs.

*Truckload freight is \$3300/truck.

**LTL rates to be determined based on size, quantity and product mix at time of order. Pre-pay & ADD. All freight is subject to carrier fuel surcharge.

*** Lead times are dependent on quantity on each order and product mix. Normal supply lead times are 2-6 weeks, or sooner, from receipt of order. However, if large volume orders are placed at one time, lead times would extend and scheduled shipment would be arranged to accommodate on site production rates and cheapest landed cost.

**** Pricing agreement(s) will be

effective on October 30, 2024 and last through October 29th 2025. Thereafter the Annual pricing agreement (s) will be subject to a price increase of a minimum of 4% per Annual pricing agreement to be discussed at time of renewal. ie 2025 to 2026 would incur a 4% increase on stated prices. 2026-2027 would be an additional 4%. Subject to acceptance, if desired. **Limited Warranty Statement** One Clarion's exclusive warranty, if applicable, is that provided by the product's manufacturer. Flint Technical Geosolutions warrants our products to be free from defects in material and workmanship when shipped out to our customers and that our products meet our published specifications. OS435 TDS and MSDS attached to item 25610--01-01 applies to all dewatering tubes Line Item **Unit Price** Qty/Unit **Total Price** Item# 25610--01-01 Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 25' length - First Offer \$378.48 1 / each \$378.48 **Product Code:** Supplier Product Code: Agency Notes: Supplier Notes: \$725.04 \$725.04 25610--01-02 Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 50' length - First Offer 1 / each Supplier Product Code: **Product Code: Agency Notes:** Supplier Notes: 25610--01-03 \$1,069.61 Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 75' length - First Offer \$1,069.61 1 / each **Supplier Product Code:** Product Code: **Agency Notes:** Supplier Notes: 25610--01-04 Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 100' length - First Offer \$929.10 \$929.10 1 / each **Product Code:** Supplier Product Code: **Supplier Notes: Agency Notes:** 25610--01-05 Dredging Geotextile Tubes: Geotextile tube 15' circumference @ custom built length - First Offer \$14.51 50 / foot \$725.50 **Product Code:** Supplier Product Code: Supplier Notes: Price is per per linear **Agency Notes:** foot. 50' long minimum size. \$553.47 25610--01-06 Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 25' length - First Offer 1 / each \$553.47 **Product Code:** Supplier Product Code: **Agency Notes:** Supplier Notes: 25610--01-07 Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 50' length - First Offer \$1,090.41 1 / each \$1,090.41 Product Code: **Supplier Product Code: Agency Notes:** Supplier Notes: 25610--01-08 1 / each Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 75' length - First Offer \$1,630,49 \$1,630,49 **Product Code:** Supplier Product Code: **Agency Notes:** Supplier Notes: 25610--01-09 \$1,852.50 Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 100' length - First Offer \$1,852.50 1 / each

Product Code: Agency Notes		Supplier Pro Supplier No		
2561001-10	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ custom built length - First Offer	\$21.80	50 / foot	\$1,090.00
Product Code: Agency Notes		Supplier Pro Supplier No Price is per p minimum siz	tes: er linear foot	:. 50' long
2561001-11	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$1,464.33	1 / each	\$1,464.33
Product Code: Agency Notes		Supplier Pro Supplier No		
2561001-12	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 75' length - First Offer		1 / each	\$2,164.86
Product Code: Agency Notes		Supplier Pro		
2561001-13	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 100' length - First Offer	\$2,705.22	1 / each	\$2,705.22
Product Code: Agency Notes		Supplier Pro		
	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ custom built length - First Offer	\$29.29	50 / foot	\$1,464.50
Product Code: Agency Notes	:	minimum siz	tes: er linear foot	
2561001-15	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 50' length - First Offer	\$1,841.67	1 / each	\$1,841.67
Product Code: Agency Notes		Supplier Pro Supplier No		
2561001-16	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 75' length - First Offer	\$2,726.60	1 / each	\$2,726.60
Product Codes Agency Notes		Supplier Pro Supplier No		
2561001-17	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer	\$3,386.94	1 / each	\$3,386.94
Product Code: Agency Notes		Supplier Pro Supplier No		
2561001-18	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer	\$36.84	50 / foot	\$1,842.00
Product Code: Agency Notes		Supplier Pro Supplier No Price is per p minimum siz	tes: er linear foot	. 50' long
2561001-19	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 50' length - First Offer	\$2,240.10	1 / each	\$2,240.10
Product Code: Agency Notes		Supplier Pro Supplier No		
2561001-20	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 75' length - First Offer	\$3,299.50	1 / each	\$3,299.50
Product Codes Agency Notes		Supplier Pro Supplier No		
2561001-21	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 100' length - First Offer	\$4,231.68	1 / each	\$4,231.68
Product Code: Agency Notes		Supplier Pro Supplier No		
2561001-22	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ custom built length - First Offer	\$44.81	50 / foot	\$2,240.50
Product Code: Agency Notes		Supplier Pro Supplier No		
2561001-23	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 50' length - First Offer	\$2,746.26	1 / each	\$2,746.26
Product Code: Agency Notes		Supplier Pro		
2561001-24	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 75' length - First Offer	\$3,979.17	1 / each	\$3,979.17
Product Code: Agency Notes		Supplier Pro	oduct Code:	. =, 5 . 5
2561001-25	 Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 100' length - First Offer 	\$4,905.42	1 / each	\$4,905.42
23010 01-23	5. caging dedicating rapes, dedicating table to circuminate the with imagin. This offer	ψ¬,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	i / Cacii	₩ ¬,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

Product Code: Agency Notes		Supplier Product Code: Supplier Notes:			
2561001-26	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ custom built length - First Offer	\$54.93	50 / foot	\$2,746.50	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes: * Price is per per linear foot. 50' long minimum size. **Truckload freight is \$3300/truck. ***LTL to be determined based on size, quantity and product mix.			
			Lot Total	: \$54,029.85	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
2561002-01	Underlament: Custom built underlament - First Offer	\$0.36	1 / each	\$0.36	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: * Price is per square foot. Minimum size is 500 square foot **Truckload freight is \$3300/truck. ***LTL to be determined based on size, quantity and product mix.			
			Lot	Total: \$0.36	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2561003-01	Attachments: Bidder's Current W-9 - First Offer		1 / each		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
			Lot	Total: \$0.00	

BlueWater EnviroLining

\$61,822.54 (28/28 items)

Bid Contact **Phillip Boren**

pboren@bluewaterok.com

Ph 405-568-8313

Address PO Box 850827 Yukon, OK 73085

•	11 405 500 65 15				
Agency Notes:		Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
2561001-01	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 25' length - First Offer	\$547.40	1 / each	\$547.40	
		Supplier Product Code: Supplier Notes:			
2561001-02	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 50' length - First Offer	\$713.00	1 / each	\$713.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
2561001-03	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 75' length - First Offer	\$1,049.00	1 / each	\$1,049.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
2561001-04	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 100' length - First Offer	\$1,396.00	1 / each	\$1,396.00	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:			
2561001-05	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ custom built length - First Offer	\$14.26	50 / foot	\$713.00	
Product Code Agency Notes		Supplier Pro Supplier Not I am not cert correctly. The	tes: ain I priced ti		

		orice that can be applied to any custom length		
2561001-06	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 25' length - First Offer	\$738.30	1 / each	\$738.30
Product Code:		Supplier Pro		¥730.30
Agency Notes:		Supplier Notes:		
2561001-07	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 50' length - First Offer	\$1,205.00	1 / each	\$1,205.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
2561001-08	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 75' length - First Offer	\$1,707.75	1 / each	\$1,707.75
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier No	tes:	
2561001-09	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 100' length - First Offer	\$2,219.50	1 / each	\$2,219.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
2561001-10	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ custom built length - First Offer	\$24.10	50 / foot	\$1,205.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
2561001-11	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$1,699.00	1 / each	\$1,699.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-12	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 75' length - First Offer	\$2,366.00	1 / each	\$2,366.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
2561001-13	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 100' length - First Offer	\$3,041.75	1 / each	\$3,041.75
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
2561001-14	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ custom built length - First Offer	\$33.97	50 / foot	\$1,698.50
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-15	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 50' length - First Offer	\$2,189.60	1 / each	\$2,189.60
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
2561001-16	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 75' length - First Offer	\$3,023.35	1 / each	\$3,023.35
		Supplier Product Code: Supplier Notes:		
Product Code: Agency Notes:				
				\$3,867.45
Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer	Supplier No	1 / each	\$3,867.45
Agency Notes: 2561001-17 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer	\$3,867.45 Supplier Pro	1 / each	\$3,867.45 \$2,189.50
Agency Notes: 2561001-17 Product Code: Agency Notes: 2561001-18 Product Code:	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer	Supplier No \$3,867.45 Supplier Pro Supplier No \$43.79 Supplier Pro	1 / each duct Code: tes: 50 / foot duct Code:	
Agency Notes: 2561001-17 Product Code: Agency Notes: 2561001-18 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer	\$3,867.45 Supplier Pro Supplier No \$43.79 Supplier Pro Supplier No	1 / each duct Code: tes: 50 / foot duct Code: tes:	\$2,189.50
Agency Notes: 2561001-17 Product Code: Agency Notes: 2561001-18 Product Code: Agency Notes: 2561001-19 Product Code:	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 50' length - First Offer	Supplier No \$3,867.45 Supplier Pro Supplier No \$43.79 Supplier Pro Supplier No \$2,681.80 Supplier Pro	1 / each duct Code: tes: 50 / foot duct Code: tes: 1 / each duct Code:	
Agency Notes: 2561001-17 Product Code: Agency Notes: 2561001-18 Product Code: Agency Notes: 2561001-19	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 50' length - First Offer	Supplier No \$3,867.45 Supplier Pro Supplier No \$43.79 Supplier Pro Supplier No \$2,681.80 Supplier Pro Supplier No	1 / each duct Code: tes: 50 / foot duct Code: tes: 1 / each duct Code:	\$2,189.50 \$2,681.80
Agency Notes: 2561001-17 Product Code: Agency Notes: 2561001-18 Product Code: Agency Notes: 2561001-19 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 50' length - First Offer Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 75' length - First Offer	Supplier No \$3,867.45 Supplier Pro Supplier No \$43.79 Supplier Pro Supplier No \$2,681.80 Supplier Pro	1 / each duct Code: tes: 50 / foot duct Code: tes: 1 / each duct Code: tes: 1 / each duct Code:	\$2,189.50

Product Code: Agency Notes			Supplier Product Code: Supplier Notes:		
2561001-22	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ custom built length - First Offer	\$53.64	50 / foot	\$2,682.00	
Product Code: Agency Notes		Supplier Pro Supplier No			
2561001-23	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 50' length - First Offer	\$3,174.00	1 / each	\$3,174.00	
Product Code: Agency Notes		Supplier Pro Supplier No			
2561001-24	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 75' length - First Offer	\$4,338.95	1 / each	\$4,338.95	
Product Code: Agency Notes			Supplier Product Code: Supplier Notes:		
2561001-25	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 100' length - First Offer	\$5,671.80	1 / each	\$5,671.80	
Product Code: Agency Notes			Supplier Product Code: Supplier Notes:		
2561001-26	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ custom built length - First Offer	\$63.48	50 / foot	\$3,174.00	
Product Code: Agency Notes		Supplier Pro Supplier No			
			Lot Total	: \$61,822.35	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2561002-01	Underlament: Custom built underlament - First Offer	\$0.19	1 / each	\$0.19	
Product Code: Agency Notes		Supplier Pro Supplier No			
			Lot	Total: \$0.19	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2561003-01	Attachments: Bidder's Current W-9 - First Offer		1 / each		
Product Code: Agency Notes		Supplier Pro Supplier No			
			Lot	Total: \$0.00	

\$61,974.462 (28/28 items)

Bid Contact **NICOLAS RUIZ**

nruiz@solmax.com Ph 979-709-3934 Address **3680 Mount Olive Rd Commerce, GA 30529**

P	ท 979-709-3934			
Agency Notes	:	Supplier No	tes:	
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2561001-01	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 25' length - First Offer	\$673.85	1 / each	\$673.85
Product Code Agency Notes		Supplier Pro Supplier No		
2561001-02	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 50' length - First Offer	\$864.51	1 / each	\$864.51
Product Code Agency Notes		Supplier Pro Supplier No		
2561001-03	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 75' length - First Offer	\$1,146.46	1 / each	\$1,146.46
Product Code Agency Notes		Supplier Pro Supplier No		
2561001-04	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 100' length - First Offer	\$1,337.12	1 / each	\$1,337.12
Product Code Agency Notes		Supplier Pro Supplier No		
2561001-05	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ custom built length - First Offer	\$17.29	50 / foot	\$864.50
Product Code Agency Notes		Supplier Pro Supplier Not Minimum ler	tes:	

2561001-06	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 25' length - First Offer	\$855.01	1 / each	\$855.01
Product Code:	21.648.18 6001014110 143001 CCC1014110 143000 C. 141041110101010 C. 121 1418011 1110101101	Supplier Pro		+000.01
Agency Notes:		Supplier No		
2561001-07	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 50' length - First Offer	\$1,226.82	1 / each	\$1,226.82
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-08	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 75' length - First Offer	\$1,689.93	1 / each	\$1,689.93
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-09	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 100' length - First Offer	\$2,061.75	1 / each	\$2,061.75
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
agency reces.				
2561001-10 Dre	dging Geotextile Tubes: Geotextile tube 30' circumference @ custom built length - First Offer		50 / foot oduct Code: otes:	\$1,226.80
	dging Geotextile Tubes: Geotextile tube 30' circumference @ custom built length - First Offer	\$24.536 Supplier Pro	50 / foot oduct Code: otes:	\$1,226.80
2561001-10 Dre	dging Geotextile Tubes: Geotextile tube 30' circumference @ custom built length - First Offer Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$24.536 Supplier Pro Supplier No Minimum ler	50 / foot oduct Code: otes:	\$1,226.80 \$1,589.14
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code:		\$24.536 Supplier Pro Supplier No Minimum ler \$1,589.14 Supplier Pro	50 / foot oduct Code: tes: ngth, 50'	
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$24.536 Supplier Pro Supplier No Minimum ler \$1,589.14 Supplier Pro Supplier No	50 / foot oduct Code: tes: ngth, 50' 1 / each oduct Code: tes:	\$1,589.14
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code: Agency Notes: 2561001-12		\$24.536 Supplier Pro Supplier No Minimum ler \$1,589.14 Supplier Pro Supplier No \$2,551.16	1 / each oduct Code: tes: ngth, 50'	
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code: Agency Notes: 2561001-12 Product Code:	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$24.536 Supplier Pro Supplier No Minimum ler \$1,589.14 Supplier Pro Supplier No	1 / each oduct Code: tes: ngth, 50'	\$1,589.14
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code: Agency Notes: 2561001-12 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$24.536 Supplier Pro Supplier No Minimum ler \$1,589.14 Supplier Pro Supplier No \$2,551.16 Supplier No	1 / each oduct Code: tes: ngth, 50'	\$1,589.14
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code:	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 75' length - First Offer	\$24.536 Supplier Pro Supplier No Minimum ler \$1,589.14 Supplier Pro Supplier No \$2,551.16 Supplier No	1 / each oduct Code: tes: ngth, 50' 1 / each oduct Code: tes: 1 / each oduct Code: tes: 1 / each oduct Code:	\$1,589.14 \$2,551.16
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code: Agency Notes: 2561001-12 Product Code: Agency Notes: 2561001-13 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 75' length - First Offer	\$1,589.14 Supplier Pro Supplier Pro Supplier Pro Supplier Pro Supplier Pro Supplier No \$2,551.16 Supplier Pro Supplier Pro Supplier No \$3,104.14 Supplier Pro Supplier No	1 / each oduct Code: tes: ngth, 50' 1 / each oduct Code: tes: 1 / each oduct Code: tes: 1 / each oduct Code:	\$1,589.14 \$2,551.16
2561001-10 Dre Product Code: Agency Notes: 2561001-11 Product Code: Agency Notes: 2561001-12 Product Code: Agency Notes: 2561001-13 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 75' length - First Offer Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 100' length - First Offer	\$1,589.14 Supplier Pro Supplier Pro Supplier Pro Supplier Pro Supplier Pro Supplier No \$2,551.16 Supplier Pro Supplier Pro Supplier No \$3,104.14 Supplier Pro Supplier No	1 / each oduct Code: tes: ngth, 50' 1 / each oduct Code: tes: 1 / each oduct Code: tes: 50 / foot oduct Code:	\$1,589.14 \$2,551.16 \$3,104.14 \$1,589.50

Product Code: Agency Notes:		Supplier Pro	oduct Code: tes: Minimur	n length 50
	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ custom built length - First Offer	\$65.88	50 / foot	\$3,294.00
Product Code: Agency Notes:		Supplier Pro	duct Code:	Ψ3,370.0.
Agency Notes: 2561001-25	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 100' length - First Offer	Supplier No \$5,578.03	tes: 1 / each	\$5,578.0
Product Code:		Supplier Pro	duct Code:	
2561001-24	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 75' length - First Offer	\$4,481.58	1 / each	\$4,481.5
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-23	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 50' length - First Offer		1 / each	\$3,293.8
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: tes: Minimur	n length, 50
	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ custom built length - First Offer	\$52.28	50 / foot	\$2,614.0
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-21 Product Code:	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 100' length - First Offer	\$4,553.40	1 / each	\$4,553.4
Agency Notes:		Supplier No	tes:	
Product Code:		Supplier Pro		, 5,550.1
2561001-20	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 75' length - First Offer	\$3,938.11	1 / each	\$3,938.1
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-19	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 50' length - First Offer	\$2,613.77	1 / each	\$2,613.7
Agency Notes: 2561001-18 Product Code: Agency Notes:	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer	\$39.03 Supplier Pro Supplier No Minimum ler	50 / foot oduct Code: tes:	\$1,951.50
Product Code:		Supplier Pro		
2561001-17	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer	\$3,828.77	1 / each	\$3,828.7
Product Code: Agency Notes:		Supplier Pro Supplier No		
2561001-16	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 75' length - First Offer	\$3,094.63	1 / each	\$3,094.6
Agency Notes:		Supplier No		
Product Code:		Supplier Pro	duct Code:	
2561001-15	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 50' length - First Offer	\$1,951.45	1 / each	\$1,951.4

			I	Lot Total	: \$61,973.77	
Item #	Line Item		Unit Price	Unit Price Qty/Unit Total Pr		
2561002-01		Underlament: Custom built underlament - First Offer	\$0.692	1 / each	\$0.692	
Product Code Agency Notes			Supplier No LLDPE 30mil	Supplier Product Code: Supplier Notes: LLDPE 30mil smooth Liner Unit of measure: \$/ft2		
			1	Lot T	otal: \$0.692	
Item#	Line Item		Unit Price	Qty/Unit	Total Price	
2561003-01		Attachments: Bidder's Current W-9 - First Offer		1 / each		
Product Code Agency Notes			Supplier Pro Supplier No			
				Lot	Total: \$0.00	

WaterSolve \$65,095.44 (28/28 items)

Bid Contact **Brian Schaab**

brians@gowatersolve.com

Ph 616-575-8693

Address 5031 68th Street SE	
Caledonia, MI 49316	

Agency Notes	:	Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2561001-01	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 25' length - First Offer	\$635.00	1 / each	\$635.00
Product Code Agency Notes		Geotextile Tu	Supplier Product Code: WS50 Geotextile Tube Supplier Notes:	
2561001-02	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 50' length - First Offer	\$910.00	1 / each	\$910.00
Product Code Agency Notes		Supplier Pro Geotextile Tu Supplier No	ıbe	WS50
2561001-03	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 75' length - First Offer	\$1,190.00	1 / each	\$1,190.00
Product Code Agency Notes		Supplier Pro Geotextile Tu Supplier No	ıbe	WS50
2561001-04	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 100' length - First Offer	\$1,465.00	1 / each	\$1,465.00
Product Code Agency Notes		Supplier Pro Geotextile Tu Supplier No	ıbe	WS50
2561001-05	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ custom built length - First Offer	\$25.40	50 / foot	\$1,270.00
Product Code Agency Notes		Supplier Pro Geotextile Tu Supplier No	ıbe	WS50
2561001-06	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 25' length - First Offer	\$878.00	1 / each	\$878.00
Product Code Agency Notes		Supplier Pro Geotextile Tu Supplier No	ıbe	WS50
2561001-07	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 50' length - First Offer	\$1,266.00	1 / each	\$1,266.00
Product Code Agency Notes		Supplier Pro Geotextile Tu Supplier No	ıbe	WS50
2561001-08	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 75' length - First Offer	\$1,655.00	1 / each	\$1,655.00
Product Code Agency Notes		Supplier Pro Geotextile Tu		WS50

		Supplier Not	tes:	
2561001-09	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 100' length - First Offer	\$2,042.00	1 / each	\$2,042.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-10 Dre	edging Geotextile Tubes: Geotextile tube 30' circumference @ custom built length - First Offer	\$35.12	50 / foot	\$1,756.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-11	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$1,885.00	1 / each	\$1,885.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-12	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 75' length - First Offer	\$2,505.00	1 / each	\$2,505.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-13	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 100' length - First Offer	\$3,125.00	1 / each	\$3,125.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-14 Dre	edging Geotextile Tubes: Geotextile tube 45' circumference @ custom built length - First Offer	\$37.70	50 / foot	\$1,885.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-15	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 50' length - First Offer	\$2,330.00	1 / each	\$2,330.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-16	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 75' length - First Offer	\$3,158.00	1 / each	\$3,158.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-17	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer	\$3,990.00	1 / each	\$3,990.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-18 Dre	edging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer	\$46.60	50 / foot	\$2,330.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-19	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 50' length - First Offer	\$2,870.00	1 / each	\$2,870.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-20	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 75' length - First Offer	\$3,940.00	1 / each	\$3,940.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu Supplier Not	be	WS50
2561001-21	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 100' length - First Offer	\$5,005.00	1 / each	\$5,005.0
Product Code: Agency Notes:		Supplier Pro Geotextile Tu		WS50

Product Code: Agency Notes		Geotextile Tu	Supplier Product Code: WS50 Seotextile Tube Supplier Notes:		
2561001-23	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 50' length - First Offer	\$3,175.00	1 / each	\$3,175.00	
Product Code: Agency Notes		Geotextile Tu	upplier Product Code: WS50 eotextile Tube upplier Notes:		
2561001-24	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 75' length - First Offer	\$4,320.00	1 / each	\$4,320.00	
Product Code: Agency Notes		Geotextile Tu	Supplier Product Code: WS50 Geotextile Tube Supplier Notes:		
2561001-25	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 100' length - First Offer	\$5,465.00	1 / each	\$5,465.00	
Product Code Agency Notes		Geotextile Tu	Supplier Product Code: WS50 Geotextile Tube Supplier Notes:		
2561001-26	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ custom built length - First Offer	\$63.50	50 / foot	\$3,175.00	
Product Code: Agency Notes		Supplier Pro Geotextile Tu Supplier No	ibe tes:		
Item#	Line Item	Unit Price		: \$65,095.00 Total Price	
2561002-01	Underlament: Custom built underlament - First Offer	\$0.44	1 / each	\$0.44	
Product Code: Agency Notes		Supplier Product Code: WPE-24 Supplier Notes: 24 mil CWPE meets puncture numb		WPE-24	
			Lot	Total: \$0.44	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2561003-01	Attachments: Bidder's Current W-9 - First Offer		1 / each		
Product Code: Agency Notes		Supplier Pro Supplier No			
			Lot	Total: \$0.00	

PacTec \$66,715.00 (28/28 items)

Bid Contact Brady Carpenter

<u>bradycarpenter@pactecinc.com</u>

Ph 225-615-6431
Qualifications CS ARCH ENG

Address **9506 Plank Rd Clinton, LA 70722-3701**

Qualification	S CS ARCH ENG			
Agency Notes	:	Supplier No	tes:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2561001-01	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 25' length - First Offer	\$605.00	1 / each	\$605.00
Product Code Agency Notes		Supplier Pro 46BS1 Supplier No 24'x55' \$420	tes: Underla	

2561001-02	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 50' length - First Offer	\$820.00	1 / each	\$820.00
Product Code: Agency Notes:		Supplier Pro 46BS1 Supplier No 24'x80' \$603	tes: Underla	
2561001-03	Dredging Geotextile Tubes: Geotextile tube 15' circumference @ 75' length - First Offer		1 / each	\$1,120.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier No 24'x105' \$79	tes: Underla	

2561001-04	Dredging Genteytile Tuhes: Genteytile tuhe 15' circumference @ 100' length - First Offer	\$1 500 00	1 / each	\$1 500 00	
2561001-04 Product Code: Agency Notes:		\$1,500.00 Supplier Pro 46BS2 Supplier No 24'x130' \$98	tes: Underla		
Product Code: Agency Notes:		\$20.00 Supplier Pro Supplier No	tes:		
2561001-06 Product Code: Agency Notes:		Supplier Pro 46BS1 Supplier No	\$800.00 1 / each \$800.00 Supplier Product Code: GP2530-46BS1 Supplier Notes: Underlayment 36'x55' \$622.50		
2561001-07 Product Code:	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 50' length - First Offer		1 / each	\$1,275.00	
Agency Notes:		Supplier Product Code: GP5030- 46BS1 Supplier Notes: Underlayment 36'x80' \$905.00			
2561001-08	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 75' length - First Offer	\$1,775.00	1 / each	\$1,775.00	
Product Code: Agency Notes:		Supplier Product Code: GP7530-46BS2 Supplier Notes: Underlayment 36'x105' \$1190.00			
2561001-09	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ 100' length - First Offer	\$2,320.00	1 / each	\$2,320.00	
Product Code: Agency Notes:		Supplier Product Code: GP10030- 46BS2 Supplier Notes: Underlayment 36'x130' \$1500.00			
2561001-10	Dredging Geotextile Tubes: Geotextile tube 30' circumference @ custom built length - First Offer	\$30.00	50 / foot	\$1,500.00	
Product Code: Agency Notes:		Supplier Pro Supplier No	duct Code:		

2561001-11	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 50' length - First Offer	\$1,785.00	1 / each	\$1,785.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier Not 48'x80' \$1210	t es: Underla	
2561001-12	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 75' length - First Offer	\$2,475.00	1 / each	\$2,475.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier Not 48'x105' \$159	t es: Underla	
2561001-13	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ 100' length - First Offer	\$3,200.00	1 / each	\$3,200.00
Product Code: Agency Notes:		Supplier Pro 46BS3 Supplier Not 48'x130' \$197	t es: Underla	
2561001-14	Dredging Geotextile Tubes: Geotextile tube 45' circumference @ custom built length - First Offer	\$40.00	50 / foot	\$2,000.00
Product Code: Agency Notes:		Supplier Pro Supplier Not Circumference	tes: Cost of	45'
2561001-15	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 50' length - First Offer	\$2,300.00	1 / each	\$2,300.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier Not 60'x80' \$1600	t es: Underla	
2561001-16	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 75' length - First Offer	\$3,100.00	1 / each	\$3,100.00
Product Code: Agency Notes:		Supplier Product Code: GP7560-46BS2 Supplier Notes: Underlayment 60'x105' \$2070.00		
2561001-17	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ 100' length - First Offer	\$4,050.00	1 / each	\$4,050.00
Product Code: Agency Notes:		Supplier Pro 46BS3 Supplier Not 60'x130' \$257	t es: Underla	
2561001-18	Dredging Geotextile Tubes: Geotextile tube 60' circumference @ custom built length - First Offer	\$50.00	50 / foot	\$2,500.00
Product Code: Agency Notes:		Supplier Pro Supplier Not Circumference	t es: Cost for	60'
2561001-19	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 50' length - First Offer	\$2,850.00	1 / each	\$2,850.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier Not 60'x80' \$1600	t es: Underla	
2561001-20	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 75' length - First Offer	\$3,850.00	1 / each	\$3,850.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier Not 60'x105' \$207	t es: Underla	
2561001-21	Dredging Geotextile Tubes: Geotextile tube 75' circumference @ 100' length - First Offer	\$5,250.00	1 / each	\$5,250.00
Product Code: Agency Notes:		Supplier Pro 46BS3 Supplier Not 60'x130' \$257	t es: Underla	

Agency Notes:				
Product Code:		Supplier Pro Supplier No		vv-9
2561003-01	Attachments: Bidder's Current W-9 - First Offer	Committee D	1 / each	M 0
	Line Item	Unit Price	Qty/Unit	Total Price
Item#	l ine Item	Unit Price		Total: \$0.00
Product Code: Agency Notes:		Supplier Pro Code: Under Supplier No price of custo	layment Cus tes: PDF is u	oloaded for
2561002-01	Underlament: Custom built underlament - First Offer	\$0.00	1 / each	\$0.00
Item#	Line Item	Unit Price	Lot Total Qty/Unit	: \$66,715.00 Total Price
Product Code: Agency Notes:		Supplier Pro Supplier No Circumferen	tes: Price for	90'
	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ custom built length - First Offer	\$70.00	50 / foot	\$3,500.00
Product Code: Agency Notes:		Supplier Pro 46BS3 Supplier No 72'x130' \$30	tes: Underla	
2561001-25	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 100' length - First Offer	\$6,240.00	1 / each	\$6,240.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier No 72'x105' \$250	tes: Underla	
2561001-24	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 75' length - First Offer	\$4,550.00	1 / each	\$4,550.00
Product Code: Agency Notes:		Supplier Pro 46BS2 Supplier No 72'x80' \$1900	tes: Underla	yment
2561001-23	Dredging Geotextile Tubes: Geotextile tube 90' circumference @ 50' length - First Offer	\$3,350.00	1 / each	\$3,350.00
Agency Notes:	ency Notes:		oduct Code: tes: Price for ce is \$60 per	75'
Product Code:		Cunniar Dra	Muct Code	CD7E

	Close Print	
Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #OCAT-WRWA-2424 - Federal Inspection Services - Furniture, Fixtures, & Equipment

Creation Date **Jul 18, 2024** End Date **Sep 4, 2024 10:00:00 AM CDT**

Start Date Jul 26, 2024 9:16:36 AM CDT Awarded Date Not Yet Awarded

L&M Office Furniture			A - -		8,872.93	(84/84 items)
Bid Contact Vanessa Ste vanessas@l Ph 918-664-	-mofficefurn.com		Address 4444 S 91st E Ave Tulsa, OK 74145			
Agency Notes:			Supplier Notes:			
Item #	Line Item		Unit Price	Qty/Unit		Total Price
OCAT-WRWA-242401-01	Importe	ed Item Lot: BK1 - First Offer	\$418.04	3 / each		\$1,254.12
Product Code: Agency Notes:			Supplier Product Code Supplier Notes: QUOT		KCASE/MO	DEL H105534
OCAT-WRWA-242401-02	Importe	ed Item Lot: BN1 - First Offer	\$0.00	2 / each		\$0.00
Product Code: Agency Notes:						
OCAT-WRWA-242401-03 Product Code: Agency Notes:	Importe	ed Item Lot: CH1 - First Offer	\$454.05 Supplier Product Code Supplier Notes: QUOT		ΓΙΟΝ 2.0 TA	\$13,621.50
			CHAIR/MODEL HIWMN	1		
OCAT-WRWA-242401-04	Importe	ed Item Lot: CH2 - First Offer	\$336.74	20 / each		\$6,734.80
Product Code: Agency Notes:			Supplier Product Code Supplier Notes: QUOT		IT GUEST C	HAIR
OCAT-WRWA-242401-05	Importe	ed Item Lot: CH3 - First Offer	\$461.66	11 / each		\$5,078.26
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: QUOTED HON CLIQ TASK CHAIR/MODEL HCLQT			R/MODEL
OCAT-WRWA-242401-06	Importe	ed Item Lot: CH4 - First Offer	\$0.00	13 / each		\$0.00

Product Code: Agency Notes:	Supplier Product Code Supplier Notes: NO BIG			
OCAT-WRWA-242401-07	Imported Item Lot: CH6 - First Offer	\$1,051.49	1 / each	\$1,051.49
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: QUOTED KIMBALL JOYA TASK STOOL			
OCAT-WRWA-242401-08	Imported Item Lot: CH7 - First Offer	\$152.07	14 / each	\$2,128.98
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTI		AIR
OCAT-WRWA-242401-09	Imported Item Lot: CM1 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-10	Imported Item Lot: DK1 - First Offer	\$2,365.11	8 / each	\$18,920.88
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: QUOTED HON CONCINNITY CASEGOODS		
OCAT-WRWA-242401-11	Imported Item Lot: DK2 - First Offer	\$594.18	1 / each	\$594.18
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: QUOTED HON CONCINNITY CASEGOODS		
OCAT-WRWA-242401-12	Imported Item Lot: DK3 - First Offer	\$1,759.14	1 / each	\$1,759.14
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOT		ry casegoods
OCAT-WRWA-242401-13	Imported Item Lot: DK4 - First Offer	\$1,698.60	1 / each	\$1,698.60
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTI		ry casegoods
OCAT-WRWA-242401-14	Imported Item Lot: DK6 - First Offer	\$0.00	5 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BIG		
OCAT-WRWA-242401-15	Imported Item Lot: DK7 - First Offer	\$3,105.67	1 / each	\$3,105.67
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: QUOTED HON CONCINNITY CASEGOODS		
OCAT-WRWA-242401-16	Imported Item Lot: EQ1 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-17	Imported Item Lot: EQ2 - First Offer	\$0.00	1 / each	\$0.00
Product Code:		Supplier Product Code		
Agency Notes: OCAT-WRWA-242401-18	Imported Item Lot: FE1 - First Offer	Supplier Notes: NO BID \$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BI): :	+0.00

OCAT-WRWA-242401-19	Imported Item Lot: FE2 - First Offer	 	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-20	Imported Item Lot: FE3 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-21	Imported Item Lot: FE4 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-22	Imported Item Lot: FL1 - First Offer	\$1,018.52	10 / each	\$10,185.20
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		L STORAGE
OCAT-WRWA-242401-23	Imported Item Lot: FL2 - First Offer	\$1,018.52	5 / each	\$5,092.60
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes: QUOTE		L STORAGE
OCAT-WRWA-242401-24	Imported Item Lot: FL3 - First Offer	\$790.79	7 / each	\$5,535.53
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		L STORAGE
OCAT-WRWA-242401-25	Imported Item Lot: FL4 - First Offer	\$660.21	1 / each	\$660.21
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		L STORAGE
OCAT-WRWA-242401-26	Imported Item Lot: LC1 - First Offer	\$1,260.00	1 / each	\$1,260.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		LOUNGE CHAIR
OCAT-WRWA-242401-27	Imported Item Lot: MB1 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-28	Imported Item Lot: MS1 - First Offer	\$172.07	1 / each	\$172.07
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-29	Imported Item Lot: MS2 - First Offer	\$271.40	1 / each	\$271.40
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-30	Imported Item Lot: MS3 - First Offer	\$54.76	17 / each	\$930.92
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-31	Imported Item Lot: MS4 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-32	Imported Item Lot: MS5 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-33	Imported Item Lot: MS6 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-34	Imported Item Lot: MS7 - First Offer	\$164.05	1 / each	\$164.05
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-35	Imported Item Lot: MS8 - First Offer	\$262.52	66 / each	\$17,326.32
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-36	Imported Item Lot: MS10 - First Offer	\$0.00	2 / each	\$0.00

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-37	Imported Item Lot: MS11 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-38	Imported Item Lot: MS12 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-39	Imported Item Lot: MS13 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-40	Imported Item Lot: MS20 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-41	Imported Item Lot: MS21 - First Offer	\$0.00	3 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-42	Imported Item Lot: MS22 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-43	Imported Item Lot: MS23 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-44	Imported Item Lot: MW1 - First Offer	\$0.00	5 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-45	Imported Item Lot: PO1 - First Offer	\$382.17	1 / each	\$382.17
Product Code:		Supplier Product Code:	1	
Agency Notes: OCAT-WRWA-242401-46	Imported Item Lot: PO2 - First Offer	Supplier Notes:	1 / each	\$0.00
Product Code: Agency Notes:	imported item Lot. PO2 - First Offer	Supplier Product Code: Supplier Notes: NO BID		\$0.00
OCAT-WRWA-242401-47	Imported Item Lot: PO3 - First Offer	\$0.00	3 / each	\$0.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-48	Imported Item Lot: PO4 - First Offer	\$0.00	7 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-49	Imported Item Lot: RF1 - First Offer	\$0.00	6 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID		
OCAT-WRWA-242401-50	Imported Item Lot: RF2 - First Offer	\$0.00	1 / each	\$0.00

Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-51	Imported Item Lot: RR1 - First Offer	\$0.00	8 / each	\$0.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-52	Imported Item Lot: RR2 - First Offer	\$0.00	10 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-53	Imported Item Lot: ST1 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-54	Imported Item Lot: ST2 - First Offer	\$341.52	38 / each	\$12,977.76
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-55	Imported Item Lot: ST3 - First Offer		7 / each	\$2,772.77
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-56	Imported Item Lot: ST4 - First Offer	\$757.12	7 / each	\$5,299.84
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		RAGE
OCAT-WRWA-242401-57	Imported Item Lot: ST5 - First Offer	\$397.59	1 / each	\$397.59
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-58	Imported Item Lot: ST6 - First Offer	\$1,658.76	1 / each	\$1,658.76
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-59	Imported Item Lot: ST7 - First Offer		2 / each	\$4,227.32
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-60	Imported Item Lot: ST8 - First Offer	\$374.82	4 / each	\$1,499.28
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-61	Imported Item Lot: ST10 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-62	Imported Item Lot: ST11 - First Offer	\$1,658.76	1 / each	\$1,658.76
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::	
OCAT-WRWA-242401-63	Imported Item Lot: TB1 - First Offer	\$676.23	1 / each	\$676.23
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		ABLE COLLECTION
OCAT-WRWA-242401-64	Imported Item Lot: TB2 - First Offer	\$2,472.50	1 / each	\$2,472.50
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		ABLE COLLECTION
OCAT-WRWA-242401-65	Imported Item Lot: TB3 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		

Agency Notes: OCAT-WRWA-242401-83	Imported Item Lot: WR1 - First Offer	Supplier Notes: NO BID \$1,010.21	12 / each	\$12,122.52
Product Code:		Supplier Product Code		
OCAT-WRWA-242401-82	Imported Item Lot: TV2 - First Offer	\$0.00	5 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-81	Imported Item Lot: TV1 - First Offer	\$0.00	15 / each	\$0.00
Agency Notes:		Supplier Notes: NO BID)	
Product Code:		Supplier Product Code		1 +0.0
Agency Notes: OCAT-WRWA-242401-80	Imported Item Lot: TS3 - First Offer	Supplier Notes: NO BID \$0.00	4 / each	\$0.0
Product Code:		Supplier Product Code		
OCAT-WRWA-242401-79	Imported Item Lot: TS2-B - First Offer	\$0.00	1 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-78	Imported Item Lot: TS2-A - First Offer	\$0.00	1 / each •	\$0.0
Agency Notes:		Supplier Notes: NO BID		
Product Code:	,	Supplier Product Code		1
OCAT-WRWA-242401-77	Imported Item Lot: TS1-B - First Offer	\$0.00	, 3 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-76	Imported Item Lot: TS1-A - First Offer	\$0.00	6 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-75	Imported Item Lot: TR1 - First Offer	\$0.00	12 / each	\$0.0
Agency Notes:		Supplier Notes: NO BID)	T
Product Code:	F1.111.111.111.1111.1111.1111.1111.111	Supplier Product Code		1
Agency Notes: OCAT-WRWA-242401-74	Imported Item Lot: TB13 - First Offer	\$0.00	3 / each	\$0.0
Product Code:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-73	Imported Item Lot: TB12 - First Offer	\$0.00	1 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-72	Imported Item Lot: TB11 - First Offer	\$0.00	1 / each	\$0.0
Agency Notes:		Supplier Notes: QUOTE		IDE TABLE COLLECTION
Product Code:	imported terrizot. 1510 This one	Supplier Product Code		\$1,770.5
Agency Notes: OCAT-WRWA-242401-71	Imported Item Lot: TB10 - First Offer	Supplier Notes: NO BID \$1,770.59	1 / each	\$1,770.5
Product Code:		Supplier Product Code		
OCAT-WRWA-242401-70	Imported Item Lot: TB9 - First Offer	\$0.00	2 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: QUOTE		NATE TABLE COLLECTION
OCAT-WRWA-242401-69	Imported Item Lot: TB8 - First Offer	\$483.38	1 / each	\$483.3
Agency Notes:		Supplier Notes: NO BID		T
Product Code:	imported item Lot. 167 - First Offer	Supplier Product Code		\$0.0
Agency Notes: OCAT-WRWA-242401-68	Imported Item Lot: TB7 - First Offer	\$0.00	1 / each	BIRK TABLE COLLECTION \$0.0
Product Code:		Supplier Product Code		
OCAT-WRWA-242401-67	Imported Item Lot: TB6 - First Offer	\$1,312.08	2 / each	\$2,624.1
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID		
OCAT-WRWA-242401-66	Imported Item Lot: TB4 - First Offer	\$0.00	1 / each	\$0.0

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: QUOTED HON CONCINNITY CASEGOODS			
OCAT-WRWA-242401-84 Imported Item Lot: WS1 - First Offer		\$5,151.69	2 / each	\$10,303.38
Product Code:	Product Code:			
Agency Notes:	Supplier Notes: QUOTE HON ACCELERATE WORKSTATION			
				Lot Total: \$158,872.93

Downey Contracting, L.L.C.

\$539,401.00 (84/84 items)

	downeycontracting.com	Address 3217 NE 63rd Street Oklahoma City, OK 73121			
Ph 405-47 Qualifications OKC PRE-	78-5277 QUALIFIED CONTRACTORS				
Agency Notes:	-	Supplier Notes:			
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
OCAT-WRWA-242401-01	Imported Item Lot: BK1 - First Offer	\$0.00	3 / each	\$0.00	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:		
OCAT-WRWA-242401-02	Imported Item Lot: BN1 - First Offer	\$0.00	2 / each	\$0.00	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:		
OCAT-WRWA-242401-03 Product Code: Agency Notes:	Imported Item Lot: CH1 - First Offer	\$0.00 Supplier Product Code Supplier Notes: No bid	30 / each :	\$0.00	
OCAT-WRWA-242401-04 Product Code: Agency Notes:	Imported Item Lot: CH2 - First Offer	\$0.00 Supplier Product Code Supplier Notes:	20 / each	\$0.00	
. 		No bid			
OCAT-WRWA-242401-05	Imported Item Lot: CH3 - First Offer	\$0.00	11 / each	\$0.00	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:		

OCAT-WRWA-242401-06	Imported Item Lot: CH4 - First Offer	\$0.00	13 / each	\$0.00
Product Code: Agency Notes:	imported item 25d. er iv i ii 5d onei	Supplier Product Code: Supplier Notes: No bid		\$0.00
OCAT-WRWA-242401-07	Imported Item Lot: CH6 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-08	Imported Item Lot: CH7 - First Offer	\$0.00	14 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-09	Imported Item Lot: CM1 - First Offer	\$117.00	2 / each	\$234.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-2424-01-10 Product Code: Agency Notes:	Imported Item Lot: DK1 - First Offer	\$0.00 Supplier Product Code Supplier Notes: No bid	8 / each	\$0.00
OCAT-WRWA-242401-11	Imported Item Lot: DK2 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No bid	:	
OCAT-WRWA-242401-12	Imported Item Lot: DK3 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No bid		
OCAT-WRWA-242401-13	Imported Item Lot: DK4 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-14	Imported Item Lot: DK6 - First Offer	\$0.00	5 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-15	Imported Item Lot: DK7 - First Offer	\$0.00	1 / each	\$0.00

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No bid	
OCAT-WRWA-242401-16	Imported Item Lot: EQ1 - First Offer	\$3,420.00 1 / each	\$3,420.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-17	Imported Item Lot: EQ2 - First Offer	\$2,700.00 1 / each	\$2,700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-18	Imported Item Lot: FE1 - First Offer	\$360.00 1 / each	\$360.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-19	Imported Item Lot: FE2 - First Offer	\$900.00 1 / each	\$900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-20	Imported Item Lot: FE3 - First Offer	\$1,440.00 1 / each	\$1,440.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-21	Imported Item Lot: FE4 - First Offer	\$450.00 1 / each	\$450.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-22	Imported Item Lot: FL1 - First Offer	\$0.00 10 / each	\$0.00
OCAT WIDWA 2424 01 22	Imported from Lety FLQ. First Offer	No Bid	¢0.00
OCAT-WRWA-242401-23	Imported Item Lot: FL2 - First Offer		\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No bid	
OCAT-WRWA-242401-24			
	Imported Item Lot: FL3 - First Offer	\$0.00 7 / each	\$0,00
Product Code: Agency Notes:	Imported Item Lot: FL3 - First Offer	\$0.00 7 / each Supplier Product Code: Supplier Notes: No bid	\$0.00
Agency Notes:	·	Supplier Product Code: Supplier Notes: No bid	
	Imported Item Lot: FL3 - First Offer Imported Item Lot: FL4 - First Offer	Supplier Product Code: Supplier Notes:	\$0.00
Agency Notes: OCAT-WRWA-242401-25 Product Code:	Imported Item Lot: FL4 - First Offer	Supplier Product Code: Supplier Notes: No bid \$0.00 1 / each Supplier Product Code: Supplier Notes: No bid	\$0.00
Agency Notes: OCAT-WRWA-242401-25 Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: No bid \$0.00 1 / each Supplier Product Code: Supplier Notes: No bid	
Agency Notes: OCAT-WRWA-242401-25 Product Code: Agency Notes: OCAT-WRWA-242401-26 Product Code: Agency Notes: OCAT-WRWA-242401-27	Imported Item Lot: FL4 - First Offer	Supplier Product Code: Supplier Notes: No bid \$0.00	\$0.00
Agency Notes: OCAT-WRWA-242401-25 Product Code: Agency Notes: OCAT-WRWA-242401-26 Product Code: Agency Notes:	Imported Item Lot: FL4 - First Offer Imported Item Lot: LC1 - First Offer	Supplier Product Code: Supplier Notes: No bid \$0.00	\$0.00

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-29	Imported Item Lot: MS2 - First Offer		1 / each	\$387.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-30	Imported Item Lot: MS3 - First Offer		17 / each	\$1,224.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	·
OCAT-WRWA-242401-31	Imported Item Lot: MS4 - First Offer		1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-32	Imported Item Lot: MS5 - First Offer	\$1,323.00	1 / each	\$1,323.00
Product Code:	imported term tot: Wiss Thist Office	Supplier Product Code		Ψ1,323.00
Agency Notes:		Supplier Notes:	•	
OCAT-WRWA-242401-33	Imported Item Lot: MS6 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: nO BID	:	
OCAT-WRWA-242401-34	Imported Item Lot: MS7 - First Offer	\$189.00	1 / each	\$189.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-35	Imported Item Lot: MS8 - First Offer	\$366.00	66 / each	\$24,156.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-36	Imported Item Lot: MS10 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-37	Imported Item Lot: MS11 - First Offer	\$4,243.00	1 / each	\$4,243.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-38	Imported Item Lot: MS12 - First Offer	\$987.00	1 / each	\$987.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-39	Imported Item Lot: MS13 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-40	Imported Item Lot: MS20 - First Offer	\$2,003.00	1 / each	\$2,003.00
Product Code: Agency Notes:	,	Supplier Product Code Supplier Notes:		. ,
OCAT-WRWA-242401-41	Imported Item Lot: MS21 - First Offer		3 / each	\$4,299.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	:	•

OCAT-WRWA-242401-42	Imported Item Lot: MS22 - First Offer	\$135.00	2 / each	\$270.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-43	Imported Item Lot: MS23 - First Offer	\$2,455.00	1 / each	\$2,455.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-44	Imported Item Lot: MW1 - First Offer	\$540.00	5 / each	\$2,700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-45	Imported Item Lot: PO1 - First Offer	\$540.00	1 / each	\$540.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-46	Imported Item Lot: PO2 - First Offer	\$24,383.00	1 / each	\$24,383.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-47	Imported Item Lot: PO3 - First Offer	\$24,127.00	3 / each	\$72,381.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	: 	
OCAT-WRWA-242401-48	Imported Item Lot: PO4 - First Offer	\$23,750.00	7 / each	\$166,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-49	Imported Item Lot: RF1 - First Offer	\$1,944.00	6 / each	\$11,664.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-50	Imported Item Lot: RF2 - First Offer	\$3,924.00	1 / each	\$3,924.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-51	Imported Item Lot: RR1 - First Offer	\$0.00	8 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No bid		
OCAT-WRWA-242401-52	Imported Item Lot: RR2 - First Offer	\$0.00	10 / each	\$0.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: No bid		
OCAT-WRWA-242401-53	Imported Item Lot: ST1 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No bid	:	
OCAT-WRWA-242401-54	Imported Item Lot: ST2 - First Offer	\$342.00	38 / each	\$12,996.00
Product Code:		Supplier Product Code: Supplier Notes:	:	
Agency Notes:	Imported Item Lot: ST3 - First Offer	\$477.00	7 / each	\$3,339.00
OCAT-WRWA-242401-55	imported item Lot. 313 - First Offer			
	·	Supplier Product Code: Supplier Notes:	:	

Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	2:	
OCAT-WRWA-242401-57	Imported Item Lot: ST5 - First Offer	\$423.00	1 / each	\$423.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-58	Imported Item Lot: ST6 - First Offer	\$2,340.00	1 / each	\$2,340.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-59	Imported Item Lot: ST7 - First Offer	\$2,804.00	2 / each	\$5,608.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-60	Imported Item Lot: ST8 - First Offer	\$459.00	4 / each	\$1,836.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-61	Imported Item Lot: ST10 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	: :	
OCAT-WRWA-242401-62	Imported Item Lot: ST11 - First Offer	\$2,340.00	1 / each	\$2,340.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-63	Imported Item Lot: TB1 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:	imported territor. 151 Tilst Offer	Supplier Product Code Supplier Notes: No bid		\$0.00
OCAT-WRWA-242401-64	Imported Item Lot: TB2 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes: No bid		
OCAT-WRWA-242401-65	Imported Item Lot: TB3 - First Offer	\$1,620.00	1 / each	\$1,620.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-66	Imported Item Lot: TB4 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	2:	
OCAT-WRWA-242401-67	Imported Item Lot: TB6 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	e:	
OCAT-WRWA-242401-68	Imported Item Lot: TB7 - First Offer	\$0.00	1 / each	\$0.00
	<u>'</u>	I.	l	I

Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-69	Imported Item Lot: TB8 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:	•	Supplier Product Code Supplier Notes: No bid	:: ::	
OCAT-WRWA-242401-70	Imported Item Lot: TB9 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-71	Imported Item Lot: TB10 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-72	Imported Item Lot: TB11 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-73	Imported Item Lot: TB12 - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-74	Imported Item Lot: TB13 - First Offer	\$51,382.00	3 / each	\$154,146.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-75	Imported Item Lot: TR1 - First Offer	1	12 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid		
OCAT-WRWA-242401-76	Imported Item Lot: TS1-A - First Offer	\$0.00	6 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-77	Imported Item Lot: TS1-B - First Offer	\$0.00	3 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-78	Imported Item Lot: TS2-A - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-79	Imported Item Lot: TS2-B - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	:	
OCAT-WRWA-242401-80	Imported Item Lot: TS3 - First Offer		4 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

		No bid		
OCAT-WRWA-242401-81	Imported Item Lot: TV1 - First Offer	\$900.00	15 / each	\$13,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-82	Imported Item Lot: TV2 - First Offer	\$900.00	5 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-83	Imported Item Lot: WR1 - First Offer	\$0.00	12 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	: :	
OCAT-WRWA-242401-84	Imported Item Lot: WS1 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No bid	e:	
				Lot Total: \$539,401.00

Office Interiors, LLC

\$838,396.0465 (84/84 items)

Bid Contact Kirk Whitehead

kwhitehead@officeinteriorsok.com

Ph 405-604-9080 Fax 405-604-9088 Address **614 W Sheridan Ave Oklahoma City, OK 73102**

Agency Notes:	ency Notes: Supplier Notes:			
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCAT-WRWA-242401-01	Imported Item Lot: BK1 - First Offer	\$619.48	3 / each	\$1,858.44
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:		
OCAT-WRWA-242401-02	Imported Item Lot: BN1 - First Offer	\$110.20	2 / each	\$220.40
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-03	Imported Item Lot: CH1 - First Offer	\$853.354	30 / each	\$25,600.62
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-04	Imported Item Lot: CH2 - First Offer	\$449.606	20 / each	\$8,992.12
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-05	Imported Item Lot: CH3 - First Offer	\$774.6545	11 / each	\$8,521.1995
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-06	Imported Item Lot: CH4 - First Offer	\$1,220.5492	13 / each	\$15,867.1396
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-07	Imported Item Lot: CH6 - First Offer	\$1,107.64	1 / each	\$1,107.64
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-08	Imported Item Lot: CH7 - First Offer	\$276.0221	14 / each	\$3,864.3094
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-09	Imported Item Lot: CM1 - First Offer	\$165.00	2 / each	\$330.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-10	Imported Item Lot: DK1 - First Offer	\$2,952.5813	8 / each	\$23,620.6504

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-11	Imported Item Lot: DK2 - First Offer	\$823.81	1 / each	\$823.81
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-12	Imported Item Lot: DK3 - First Offer	\$1,706.69	1 / each	\$1,706.69
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-13	Imported Item Lot: DK4 - First Offer		1 / each	\$1,552.10
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	·
OCAT-WRWA-242401-14	Imported Item Lot: DK6 - First Offer	\$3,536.54	5 / each	\$17,682.70
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-15	Imported Item Lot: DK7 - First Offer	\$3,074.34	1 / each	\$3,074.34
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-16	Imported Item Lot: EQ1 - First Offer		1 / each	\$2,071.44
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-17	Imported Item Lot: EQ2 - First Offer	\$2,128.00	1 / each	\$2,128.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-18	Imported Item Lot: FE1 - First Offer	\$660.00	1 / each	\$660.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-19	Imported Item Lot: FE2 - First Offer	\$1,401.86	1 / each	\$1,401.86
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-20	Imported Item Lot: FE3 - First Offer	\$1,713.07	1 / each	\$1,713.07
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-21	Imported Item Lot: FE4 - First Offer	\$550.00	1 / each	\$550.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-22	Imported Item Lot: FL1 - First Offer	\$825.162	10 / each	\$8,251.62
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-23	Imported Item Lot: FL2 - First Offer	\$1,445.134	5 / each	\$7,225.67
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-24	Imported Item Lot: FL3 - First Offer	\$501.6457	7 / each	\$3,511.5199
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-25	Imported Item Lot: FL4 - First Offer	\$533.12	1 / each	\$533.12
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-26	Imported Item Lot: LC1 - First Offer	\$1,297.45	1 / each	\$1,297.45
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-27	Imported Item Lot: MB1 - First Offer		2 / each	\$1,821.70
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	·

OCAT-WRWA-242401-28	Imported Item Lot: MS1 - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-29	Imported Item Lot: MS2 - First Offer		1 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-30	Imported Item Lot: MS3 - First Offer	\$76.4435	17 / each	\$1,299.5395
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-31	Imported Item Lot: MS4 - First Offer	\$1,063.64	1 / each	\$1,063.64
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-32	Imported Item Lot: MS5 - First Offer	\$675.00	1 / each	\$675.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-33	Imported Item Lot: MS6 - First Offer		1 / each	\$520.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-34	Imported Item Lot: MS7 - First Offer	 	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-35	Imported Item Lot: MS8 - First Offer		66 / each	\$21,203.358
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-36	Imported Item Lot: MS10 - First Offer		2 / each	\$5,468.84
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-37	Imported Item Lot: MS11 - First Offer	\$1,946.95	1 / each	\$1,946.95
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-38	Imported Item Lot: MS12 - First Offer		1 / each	\$600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-39	Imported Item Lot: MS13 - First Offer		1 / each	\$4,225.93
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-40	Imported Item Lot: MS20 - First Offer		1 / each	\$1,304.66
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-41	Imported Item Lot: MS21 - First Offer		3 / each	\$2,193.4701
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-42	Imported Item Lot: MS22 - First Offer		2 / each	\$350.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-43	Imported Item Lot: MS23 - First Offer		1 / each	\$2,288.73
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-44	Imported Item Lot: MW1 - First Offer	\$451.11	5 / each	\$2,255.55
Product Code:		Supplier Product Code:	:	
Agency Notes:	İ	Supplier Notes:		

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-46	Imported Item Lot: PO2 - First Offer	\$18,722.26	1 / each	\$18,722.26
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-47	Imported Item Lot: PO3 - First Offer	\$18,528.1933	3 / each	\$55,584.5799
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-48	Imported Item Lot: PO4 - First Offer		7 / each	\$127,677.7201
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-49	Imported Item Lot: RF1 - First Offer	\$1,569.38	6 / each	\$9,416.28
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-50	Imported Item Lot: RF2 - First Offer	\$1,649.34	1 / each	\$1,649.34
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-51	Imported Item Lot: RR1 - First Offer	\$1,829.7137	8 / each	\$14,637.7096
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-52	Imported Item Lot: RR2 - First Offer	\$1,828.676	10 / each	\$18,286.76
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-53	Imported Item Lot: ST1 - First Offer	\$17,385.635	2 / each	\$34,771.27
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-54	Imported Item Lot: ST2 - First Offer	\$317.685	38 / each	\$12,072.03
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-55	Imported Item Lot: ST3 - First Offer	\$360.1829	7 / each	\$2,521.2803
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-56	Imported Item Lot: ST4 - First Offer	\$442.1329	7 / each	\$3,094.9303
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-57	Imported Item Lot: ST5 - First Offer	\$475.00	1 / each	\$475.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-58	Imported Item Lot: ST6 - First Offer	\$1,655.40	1 / each	\$1,655.40
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-59	Imported Item Lot: ST7 - First Offer	\$2,018.45	2 / each	\$4,036.90
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-60	Imported Item Lot: ST8 - First Offer	\$375.14	4 / each	\$1,500.56
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-61	Imported Item Lot: ST10 - First Offer	\$16,312.73	1 / each	\$16,312.73
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
OCAT-WRWA-242401-62	Imported Item Lot: ST11 - First Offer	\$1,779.11	1 / each	\$1,779.11
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	

OCAT-WRWA-242401-63	Imported Item Lot: TB1 - First Offer		1 / each	\$1,343.53
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-64	Imported Item Lot: TB2 - First Offer	\$2,509.54	1 / each	\$2,509.54
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-65	Imported Item Lot: TB3 - First Offer	\$1,338.86	1 / each	\$1,338.86
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-66	Imported Item Lot: TB4 - First Offer	\$2,263.59	1 / each	\$2,263.59
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-67	Imported Item Lot: TB6 - First Offer	\$852.33	2 / each	\$1,704.66
Product Code: Agency Notes:	•	Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-68	Imported Item Lot: TB7 - First Offer	\$1,829.19	1 / each	\$1,829.19
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-69	Imported Item Lot: TB8 - First Offer	\$490.89	1 / each	\$490.89
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-70	Imported Item Lot: TB9 - First Offer	\$3,610.795	2 / each	\$7,221.59
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-71	Imported Item Lot: TB10 - First Offer	\$2,565.13	1 / each	\$2,565.13
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-72	Imported Item Lot: TB11 - First Offer	\$2,218.02	1 / each	\$2,218.02
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-73	Imported Item Lot: TB12 - First Offer	\$4,014.75	1 / each	\$4,014.75
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-74	Imported Item Lot: TB13 - First Offer	\$45,672.4133	3 / each	\$137,017.2399
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-75	Imported Item Lot: TR1 - First Offer	\$1,827.9842	12 / each	\$21,935.8104
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-76	Imported Item Lot: TS1-A - First Offer	\$7,892.50	6 / each	\$47,355.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-77	Imported Item Lot: TS1-B - First Offer	\$8,048.5867	3 / each	\$24,145.7601
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-78	Imported Item Lot: TS2-A - First Offer	\$6,607.16	1 / each	\$6,607.16
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-79	Imported Item Lot: TS2-B - First Offer	\$6,668.80	1 / each	\$6,668.80
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCAT-WRWA-242401-80	Imported Item Lot: TS3 - First Offer	\$1,466.9125	4 / each	\$5,867.65

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::	
OCAT-WRWA-242401-81	Imported Item Lot: TV1 - First Offer	\$1,124.9593	15 / each	\$16,874.3895
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::	
OCAT-WRWA-242401-82	Imported Item Lot: TV2 - First Offer	\$1,249.94	5 / each	\$6,249.70
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-83	Imported Item Lot: WR1 - First Offer	\$784.01	12 / each	\$9,408.12
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-84	Imported Item Lot: WS1 - First Offer	\$5,807.265	2 / each	\$11,614.53
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::	
				Lot Total: \$838,396.0465

Furniture Marketing Group

\$710,242.00 (83/84 items)

Bid Contact Greg Sadler

gregsa@fmgi.com Ph 405-596-0678

Qualifications CS ARCH ENG

Address **421 NW 10th ST, 101E Oklahoma City, OK 73103**

Agency Notes:		Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCAT-WRWA-242401-01	Imported Item Lot: BK1 - First Offer	\$626.00	3 / each	\$1,878.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
OCAT-WRWA-242401-02	Imported Item Lot: BN1 - First Offer	\$100.00	2 / each	\$200.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-03	Imported Item Lot: CH1 - First Offer	\$725.00	30 / each	\$21,750.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-04	Imported Item Lot: CH2 - First Offer	\$435.00	20 / each	\$8,700.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
OCAT-WRWA-242401-05	Imported Item Lot: CH3 - First Offer	\$749.00	11 / each	\$8,239.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-06	Imported Item Lot: CH4 - First Offer	\$1,214.00	13 / each	\$15,782.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-07	Imported Item Lot: CH6 - First Offer	\$984.00	1 / each	\$984.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-08	Imported Item Lot: CH7 - First Offer	\$267.00	14 / each	\$3,738.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-09	Imported Item Lot: CM1 - First Offer	\$129.00	2 / each	\$258.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
OCAT-WRWA-242401-10	Imported Item Lot: DK1 - First Offer	\$1,250.00	8 / each	\$10,000.00

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-11	Imported Item Lot: DK2 - First Off	r \$863.00 1 / each \$	863.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-12	Imported Item Lot: DK3 - First Off	r \$1,753.00 1 / each \$1,	753.0
Product Code:	·	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
OCAT-WRWA-242401-13	Imported Item Lot: DK4 - First Off		753.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-14	Imported Item Lot: DK6 - First Off	sr \$3,721.00 5 / each \$18,6	605.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-15	Imported Item Lot: DK7 - First Off	r \$1,833.00 1 / each \$1,8	833.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-16	Imported Item Lot: EQ1 - First Off	r \$3,550.00 1 / each \$3,	550.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-17	Imported Item Lot: EQ2 - First Off	r \$2,050.00 1 / each \$2,0	050.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-18	Imported Item Lot: FE1 - First Off	r \$370.00 1 / each \$:	370.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-19	Imported Item Lot: FE2 - First Off	\$700.00 1 / each \$	700.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-20	Imported Item Lot: FE3 - First Off	r \$1,140.00 1 / each \$1,	140.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-21	Imported Item Lot: FE4 - First Off	sr \$425.00 1 / each \$4	425.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-22	Imported Item Lot: FL1 - First Off	r \$0.00 10 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-23	Imported Item Lot: FL2 - First Off	r \$0.00 5 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-24	Imported Item Lot: FL3 - First Off		171.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-25	Imported Item Lot: FL4 - First Off	\$0.00 1 / each	\$0.0
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-26	Imported Item Lot: LC1 - First Off		640.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-27	Imported Item Lot: MB1 - First Off		200.0

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-28	Imported Item Lot: MS1 - First Offer	\$239.00 1 / each	\$239.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-29	Imported Item Lot: MS2 - First Offer	\$1,201.00 1 / each	\$1,201.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-30	Imported Item Lot: MS3 - First Offer	\$63.00 17 / each	\$1,071.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-31	Imported Item Lot: MS4 - First Offer	\$1,550.00 1 / each	\$1,550.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-32	Imported Item Lot: MS5 - First Offer	\$500.00 1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-33	Imported Item Lot: MS6 - First Offer	\$310.00 1 / each	\$310.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-34	Imported Item Lot: MS7 - First Offer	\$175.00 1 / each	\$175.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-35	Imported Item Lot: MS8 - First Offer	\$268.00 66 / each	\$17,688.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-36	Imported Item Lot: MS10 - First Offer	\$3,004.00 2 / each	\$6,008.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-37	Imported Item Lot: MS11 - First Offer	\$1,538.00 1 / each	\$1,538.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-38	Imported Item Lot: MS12 - First Offer	\$423.00 1 / each	\$423.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-39	Imported Item Lot: MS13 - First Offer	\$531.00 1 / each	\$531.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-40	Imported Item Lot: MS20 - First Offer	\$755.00 1 / each	\$755.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-41	Imported Item Lot: MS21 - First Offer	\$443.00 3 / each	\$1,329.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-42	Imported Item Lot: MS22 - First Offer	\$130.00 2 / each	\$260.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-43	Imported Item Lot: MS23 - First Offer	\$2,800.00 1 / each	\$2,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-44	Imported Item Lot: MW1 - First Offer	\$500.00 5 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	

OCAT-WRWA-242401-45	Imported Item Lot: PO1 - First Offer	\$708.00	1 / each	\$708.00
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
OCAT-WRWA-242401-46	Imported Item Lot: PO2 - First Offer		1 / each	\$19,232.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
OCAT-WRWA-242401-47	Imported Item Lot: PO3 - First Offer	\$19,600.00	3 / each	\$58,800.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-48	Imported Item Lot: PO4 - First Offer	\$18,770.00	7 / each	\$131,390.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-49	Imported Item Lot: RF1 - First Offer	\$1,650.00	6 / each	\$9,900.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
OCAT-WRWA-242401-50	Imported Item Lot: RF2 - First Offer	\$3,000.00	1 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-51	Imported Item Lot: RR1 - First Offer	\$0.00	8 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID	e: NO BID	
OCAT-WRWA-242401-52	Imported Item Lot: RR2 - First Offer	\$0.00	10 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BII		
OCAT-WRWA-242401-53	Imported Item Lot: ST1 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID	e: NO BID	
OCAT-WRWA-242401-54	Imported Item Lot: ST2 - First Offer	\$305.00	38 / each	\$11,590.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-55	Imported Item Lot: ST3 - First Offer	\$322.00	7 / each	\$2,254.00
Product Code:		Supplier Product Code Supplier Notes:	: :	
Agency Notes: OCAT-WRWA-242401-56	Imported Item Lot: ST4 - First Offer		7 / each	\$0.00
Product Code: Agency Notes:	imported item 250.511 Tilbe one	Supplier Product Code Supplier Notes: NO BID		40.00
OCAT-WRWA-242401-57	Imported Item Lot: ST5 - First Offer	\$322.00	1 / each	\$322.00
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-58	Imported Item Lot: ST6 - First Offer		1 / each	\$2,290.00
Product Code:		Supplier Product Code	<u>:</u>	<u>`</u>
Agency Notes:		Supplier Notes:		
OCAT-WRWA-242401-59	Imported Item Lot: ST7 - First Offer		2 / each	\$5,144.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-60	Imported Item Lot: ST8 - First Offer		4 / each	\$1,992.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-61	Imported Item Lot: ST10	рарриет посез.		No Bids
Agency Notes:	imported item Est. 5110	Supplier Product Code	<u> </u>	140 5103
		Supplier Notes:		

OCAT-WRWA-242401-62	Imported Item Lot: ST11 - First Offer	\$2,286.00 1 / each	\$2,286.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-63	Imported Item Lot: TB1 - First Offer	\$0.00 1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-64	Imported Item Lot: TB2 - First Offer	\$0.00 1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-65	Imported Item Lot: TB3 - First Offer	\$0.00 1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-66	Imported Item Lot: TB4 - First Offer	\$0.00 1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-67	Imported Item Lot: TB6 - First Offer	\$0.00 2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes: NO BID	
OCAT-WRWA-242401-68	Imported Item Lot: TB7 - First Offer	\$1,241.00 1 / each	\$1,241.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-69	Imported Item Lot: TB8 - First Offer	\$537.00 1 / each	\$537.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-70	Imported Item Lot: TB9 - First Offer	\$3,691.00 2 / each	\$7,382.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-71	Imported Item Lot: TB10 - First Offer	\$2,246.00 1 / each	\$2,246.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-72	Imported Item Lot: TB11 - First Offer	\$1,376.00 1 / each	\$1,376.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-73	Imported Item Lot: TB12 - First Offer		\$3,585.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-74	Imported Item Lot: TB13 - First Offer		\$125,328.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-75	Imported Item Lot: TR1 - First Offer	\$1,946.00 12 / each	\$23,352.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-76	Imported Item Lot: TS1-A - First Offer		\$65,460.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-77	Imported Item Lot: TS1-B - First Offer		\$32,973.00
Product Code:		Supplier Product Code:	
Agency Notes: OCAT-WRWA-242401-78	Imported Item Lett TS2 A First Offer	Supplier Notes: \$8,404.00 1 / each	\$0 101 OC
	Imported Item Lot: TS2-A - First Offer		\$8,404.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	

OCAT-WRWA-242401-79	Imported Item Lot: TS2-B - First Offer	\$8,491.00	1 / each	\$8,491.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-80	Imported Item Lot: TS3 - First Offer	\$982.00	4 / each	\$3,928.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-81	Imported Item Lot: TV1 - First Offer	\$931.00	15 / each	\$13,965.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
OCAT-WRWA-242401-82	Imported Item Lot: TV2 - First Offer	\$974.00	5 / each	\$4,870.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-83	Imported Item Lot: WR1 - First Offer	\$713.00	12 / each	\$8,556.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
OCAT-WRWA-242401-84	Imported Item Lot: WS1 - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID	: NO BID	
				Lot Total: \$710,242.00

GovPrime Solutions \$8,550.00 (1/84 items)

Bid Contact Mike Jahina

bidsync@govprimesolutions.com

Ph 786-933-9353

Address **2423 SW 147th Ave #2066**

Miami, FL 33185

Ph 786-933-9353		
s:		
it Price	Qty/Unit	Total Price
		No Bids
uct Co	de:	
		No Bids
uct Co	de:	
		No Bids
uct Co	de:	
		No Bids
uct Co	de:	
		No Bids
uct Co	de:	
		No Bids
uct Coo	de:	
		No Bids
uct Co	de:	
		No Bids
uct Co	de:	
		No Bids
	Cod	Code:

Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-10 Imported Item Lot: DK1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-11 Imported Item Lot: DK2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-12 Imported Item Lot: DK3		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-13 Imported Item Lot: DK4		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-14 Imported Item Lot: DK6		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-15 Imported Item Lot: DK7		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-16 Imported Item Lot: EQ1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-17 Imported Item Lot: EQ2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-18 Imported Item Lot: FE1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-19 Imported Item Lot: FE2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-20 Imported Item Lot: FE3		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-21 Imported Item Lot: FE4		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-22 Imported Item Lot: FL1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-23 Imported Item Lot: FL2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-24 Imported Item Lot: FL3		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-25 Imported Item Lot: FL4		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-26 Imported Item Lot: LC1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	

OCAT-WRWA-242401-27 Imported Item Lot: MB1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-28 Imported Item Lot: MS1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-29 Imported Item Lot: MS2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-30 Imported Item Lot: MS3		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-31 Imported Item Lot: MS4		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-32 Imported Item Lot: MS5		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-33 Imported Item Lot: MS6		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-34 Imported Item Lot: MS7		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-35 Imported Item Lot: MS8		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-36 Imported Item Lot: MS10		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-37 Imported Item Lot: MS11		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-38 Imported Item Lot: MS12		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-39 Imported Item Lot: MS13		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-40 Imported Item Lot: MS20		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-41 Imported Item Lot: MS21		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-42 Imported Item Lot: MS22		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-43 Imported Item Lot: MS23		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-44 Imported Item Lot: MW1		No Bids

Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-45 Imported Item Lot: PO1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-46 Imported Item Lot: PO2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-47 Imported Item Lot: PO3		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-48 Imported Item Lot: PO4		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-49 Imported Item Lot: RF1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-50 Imported Item Lot: RF2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-51 Imported Item Lot: RR1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-52 Imported Item Lot: RR2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-53 Imported Item Lot: ST1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-54 Imported Item Lot: ST2 - First Offe	\$225.00 38 / each	\$8,550.0
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-55 Imported Item Lot: ST3	No No	
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-56 Imported Item Lot: ST4		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-57 Imported Item Lot: ST5		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-58 Imported Item Lot: ST6		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-59 Imported Item Lot: ST7		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-60 Imported Item Lot: ST8		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-61 Imported Item Lot: ST10		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	

OCAT-WRWA-242401-62 Imported Item Lot: ST11		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-63 Imported Item Lot: TB1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-64 Imported Item Lot: TB2		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-65 Imported Item Lot: TB3		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-66 Imported Item Lot: TB4		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-67 Imported Item Lot: TB6		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-68 Imported Item Lot: TB7		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-69 Imported Item Lot: TB8		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-70 Imported Item Lot: TB9		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-71 Imported Item Lot: TB10		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-72 Imported Item Lot: TB11		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-73 Imported Item Lot: TB12		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-74 Imported Item Lot: TB13		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-75 Imported Item Lot: TR1		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-76 Imported Item Lot: TS1-A		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-77 Imported Item Lot: TS1-B		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-78 Imported Item Lot: TS2-A		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCAT-WRWA-242401-79 Imported Item Lot: TS2-B		No Bids

Agency Notes:	Supplier Product Code: Supplier Notes:
OCAT-WRWA-242401-80 Imported Item Lot: TS3	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCAT-WRWA-242401-81 Imported Item Lot: TV1	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCAT-WRWA-242401-82 Imported Item Lot: TV2	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCAT-WRWA-242401-83 Imported Item Lot: WR1	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCAT-WRWA-242401-84 Imported Item Lot: WS1	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
	Lot Total: \$8,550.00

	Close Print	
Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.